Nl

—All for dreams

FLE <WAVE

WP series

7 I 4 A U B

A High precision reducer

ZFwDIFSA JF7DJ)05-H%R &4t

NIDEC DRIVE TECHNOLOGY CORPORATION
BABEY VRMREHIF 2023F4818IC 127y 7 RS54 777 /09 —KAeHt) ITHBEELELE



A OBIE] 2 NA RO AL VEETT

"Relentless Refinement of Technology”,

FLEXWAVE

Ly IR —7




HABE DV ROP PR LT HHEE R DR,
ZDHiMi2ELS T HTLCIREBHREE LS L,

ARy hOERAILEL . ERFIEHABEENDHFENEE>TVET,
BLREBERDELICIHA DN GETHE>TELKIZERL.
BEOVANIMEBE RISy DRERETEREEE L,
[TLYIRIT—T ] F¥rYVADEEZEHAIWMBBVZEIH T,
ARy M TEEBOMEEFSILEETERELET,

Nidec=Shimpo Corporation is a global leader in various
high precision gear technologies. Based on increased
demand for\higher accuracy from machine tool and robot
manufacturers, we've utilized our expertise to develop a
new gear reduction mechanism.

-
This mechanism, called Flexwave, addresses the need for

high torque density in a lightweight, compact package,
combined with zero backlash and high reduction ratios.
As a result, mangfacturers of high performance robots,
machine tools and other automation equipment will
see increased performance and«competitiveness in their
respective markets.

BB DHBNG
DD 5,

Tractioning Your Future

INDEX

LineUp/Shsni&RK

LineUP / Parts Configuration

RS

Reduction Mechanism

BRAnE FF/ IR L

Parts Name / Reduction Ratio

3
4
4
5

BIFGEE

Model selection

Standard type A

PEREY: Zil bWl a3 6
Reducer Model / Specifications

HEs 7
Dimensions Table

FFanats (HEEmR ) 12
Life estimation (Elastic bearing)

FFanats (% ) 13
Life estimation (Main bearing)

ANEBDHFATE 15
Maximum load at input shaft

B 16
lubricant information

TSR 17
Attachment fixture requirement

=EMLY 18
Transmitting Torque

ASIERHEE 21
Input section structure

AR 22
Installation and assembly instructions

E—-YEWNAHE 23
Motor installation procedure

HiET—% 24

Characteristics Data

High torque type B2
PERE iV >3

Reducer Model / Specifications

AR

Dimensions Table

FanatH (EEEhR )

Life estimation (Elastic bearing)

Sanats (W)

Life estimation (Main bearing)

ANEBRDHFARTE

Maximum load at input shaft

VbR

lubricant information

ERfTHEEE

Attachment fixture requirement

fRZENILY

Transmitting Torque

ASEMEE

Input section structure

ERER

Installation and assembly instructions

E—YBfHE

Motor installation procedure

HiET—%

Characteristics Data

Flat type D
BRI / Rk

Reducer Model / Specifications

AR

Dimensions Table

FFanetHE (it )

Life estimation (Elastic bearing)

FevatH (W% )

Life estimation (Main bearing)

ANEOHFBRTE

Maximum load at input shaft

A

lubricant information

HHERE

Attachment fixture requirement

ERNLY

Transmitting Torque

ERHRE

Installation and assembly instructions

HiET—%

Characteristics Data

&by 547 B2

33
34
39
40
42
43
44
45
48
49
50
51

{RES 47D

61
62
67
68
69
70
71
72
74
75



FLEXUWAVE

Lineup

B 4 —7V& Open type %\ 0,

WPU-J-0-SNH WPU-J-[1-SDH
WPU- - O-SRH &
[ZZV RS AT (2 Hollow unit B O0—X& Closed type

WPU-[]-[1-SNJ WPC-[]-[1-CF WPC-[1-[J-CR
WPU-[I1-[1-SRJ WPC-[]-[1-CN WPC-[1-[-CD
PSE=UREA T (A8 Input shaft unit O VRERY k%4 7 Component

WPS-[]-[]-SN WPS-[]-[1-SD WPU-[1-[J-CF WPU-LI-[J-CD
WPS-[]-[]-SR WPU-[1-CJ-CN WPU-[1-[1-CDH
_Ie unit WPU' [1-11] -CR
Az k¥4 7 Uni

ol SRR JLyHREY (EE - ZHA)
Parts Configuration Flex gear (thin / flexible)

H L (F8F)
Cam(elliptic)

RS (HR - 2R AT6E
Elastic bearing(thin / flexible) AVGFLED

Internal gear



Pk A
Reduction Mechanism

RS - T Ly I AF Y H LICKoTEAKIC
ERSEET.

FEARBMBOMEB CILYIRT LAV IS
FYHNSVAREHENET,

AVIFNFFEETEL. H LR HEIC360°
EERSEeE AVIFULFTETLYIZAFTTD
WHEDSLEIF. 7Ly I AF VA RERT A EIC
EERLEYS

-Flex gear and elastic bearing take elliptic
shape with the cam inserted.

-Flex gear and internal gear are engaged
at both ends of the long axis of the ellipse
in a stable manner.

-With the internal gear fixed, when the cam
(input) is rotated clockwise, the flex gear
(output) rotates counterclockwise. And
its rotational speed is determined by the
tooth count differential between two gears.

o0—XHE

Flb dun 2 PR

Parts Name

Closed type

TLIIREN

Flex gear

A3 FILFY

Internal gear

EitEZ

Elastic bearing

BAAHL

Elliptic cam

ILwszREY

+—7
Open type

- LUBFLEY

Internal gear

D

T

Flex gear

BAADL

H Elliptic cam

RIE L

Reduction Ratio

Reduction ratio R

HADRERT A & HAEERTT A A5

*The input and output rotation directions are opposite.

@ R (LIBHEEARRR DIBGELE

R represents the 'Ratio’ figure in the specifications table on the next page.

\ 1
RELL = R+1

KANREERS R & HAEESRA R C

*The input and output rotation directions are same.




FIFETE Model selection

BAZEEDRN

Model selection flow

R | ZH NS BT R DHERR
SEEH ALY - FHEEHR -SUTIVEE
RAHAMLY  -REEEH - TEIVILEE

- E—AVMMIE

Operation condition of the reducer

- Maximum output torque - Axial load

- Average rotation speed + Moment load
+ Maximum rotation speed

<€

- Average output torque - Radial load h

EHEHDOREL |e—

Re-evaluate the operation contidion

R DB K EREE

Temporary selection of a model

RE %80 32 I an D ERE

Calculate the life span for the elastic bearing

NG

T#ZHFan DR

Calculate the life span for the main bearing

NG

ANEZ T EDHEE

Calculate the load condition at the input bearing

NG

R DR TR TE

Reducer selected

BHXDOREL

Re-evaluation of the model



=%
I1TA

e

Standard type A

Standard
type A

Al AIRN
SRR Reducer Model Nomenclature 97
ec
S
55 X
it 2
g
JY—Z% 547 PYEs B L J—k* i ¢z
Series name type Size Ratio Code Specifications s
)
WP —X ogmbie o o 35 50 CN ANEEE °
Component type
WP Series S 42 80 CF Input shaft o5 X
Simple unit type diameter g9 &
U caAZyNIAT 50 100 SN etc. %g E%
Sy == 63 SNH S B
Unit type 120 g
Input shaft unit —~ |
Hollow unit 80 160 SNJ 5t =
DO A
=} AR
W N HO— FEEMIETERE SRR, g2 Bt
.*ﬂ_%i‘% Availability For the code details, please check %_§ &
Ratio matrix the Dimensions Table. 383 3
Sy z 2L 50 | 80 | 100 | 120 | 160 #
2 35 -
gl 42 SIEEA
50 ss5 B
EE 45 H1P
8 353 %
i s B
NN e s W
SR B AT KR Reducer Specifications g
# 2 #3 4 %5 6 7 3 % HY
HATEH HARA ERHERA HATY HERS P =2 g
% | BOEL N ) ) AN EERH A1 EEREK R R
"j', Ratio | Nominal output | Maximum output | Emergency stop Nominal Maximum input Lt 3%
Size R torque torque torque input speed speed g
[Nm] [Nm] [Nm] [r/min] [r/min] [hours]
50 7 23 46 Sr—
85 80 9 27 55 3000 8500 8 12
100 9 32 63 ERS
50 21 44 91 H )71/
80 26 50 102 g
42 100 28 63 129 3000 7300 g
120 28 63 129
50 33 73 127 PRg—
80 40 86 149 R A
50 100 47 96 172 3000 6500 rg_r§§ =
120 47 96 172 o5 B
160 47 96 172 7000 23, =&
50 51 127 242 g &
80 66 142 266 5 g
63 100 70 163 295 3000 5600 Tz %
120 70 163 295 88 |
160 70 163 295 ga 4
50 89 253 447 s R
80 122 316 590 S 5
80 100 142 346 673 3000 4800 =
120 142 346 673
160 142 346 673 QS)’ E
¥ 1REZ p4 DRICANTEELZ RO T ZEW *1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table. 8 A
¥ 2 ABEIEREL 2000r/min DRFICEFAR T 2 & AME *2 The maximum allowable value at the input rotation speed of 2000r/min § |
¥ 3 EEE) - (R T DRKIE *3 The maximum torque when starting and stopping. g %
¥ 4 BRENMEALIFICHRT 2RAME *4 The maximum torque when it receives shock. o
¥ 5 BB LR T 2 AN BB O KE *5 The maximum average input speed. 5
X 6 EEHICHFRT 2 ANEEHORKE *6 The maximum input speed.
3% 7 A [EERH 2000r/min, SRR MO BREOFEGERE 7 The life time at the input rotation speed of 2000 r/min and nominal output torque.
FLEXWAVE WP>U—-X 6




Standard type A
~F3yE3ZR Dimensions Table

HO0—XB AVRARVINIAT
Closed Type, Component
WPC- [ -] -CN
WPC- ] -[]-CF

)

LE

LF LM
LH LG
HD cy
X N-oLU
4}0< 2-LT
= -
—1 ) Q\}‘
@1 , w(JS9)
g N| o g I @(') TN g / — )f\
R IR R < N, T
s Y %E% s \ N
& \ ’
! )
o) -0 <
47 e, BSH (H7)
st
SU 2-M3xk
. = BEE—XV b
E "j'S’f Al Weight Moment of inertia
= e kg x10"kgm’
**:f’* 35 0.10 0.0383
E‘ 42 0.17 0.0855
INPUT SHAFT FOR 35842 o0 026 0.207
63 0.43 0.544
80 0.91 1.63
[mm]

P4 X 1
Size LA LB LC | N LU

LT LE LF LG LH LM | SG SH SL W

35 | 44 | 38 | 50 | 8(6)| 35

M3 | 28,5 | 17.5 6 2 11 15.8 6 18.5 -

42 54 48 60 |16(12)] 3.5 M3 | 325 | 20 65 | 25 | 125 | 158 8 20.7 -
50 62 54 70 |16(12)] 3.5 M3 | 335|215 | 75 3 12 |1 248 | 12 | 215 4
63 75 67 85 |16(12)| 4.5 M4 37 24 10 3 13 | 278 | 14 | 216 5
80 100 | 90 110 |16(12)] 5.5 M5 44 28 14 3 16 | 278 | 14 | 236 5

YAR T | sU|SA|SB|SD| M |ST|SV|HD|CA|CB|CX|CY|ocz
35 | - | 25| 17 | 11 |235| 6 | 45 | M3 | 24 |cos5|co3| 17 | 1 | 38
a2 | - | 3 |19 10]2] 6 | 55| M3| 3 |cos|co3| 19| 1 | 45
50 |138] - | 24 | 16 | 32 | 8 | 55| M3| 3 |cos5|co5|205]| 15 | 53
63 | 163 - | 30| 20 | 40| 8 [ 65| ma| 3 [cos|cos5| 23 | 15 | 66
80 | 63| - | 40 | 26 | 52 | 8 |88 | M5 | 32 |co5|co5|268]| 15 | 86

¥ 1-CN & -CF THENRRU EY,
() NIZ-CFnfETY,

¥ 2 AAEEMIC DOV TUL, BIETERICTRRT I,

3# 3 CX. CY. CZ (3T —ARNEHERESTETY,

*1 -CN and -CF are different in dimensions. The -CF value is shownin ( ) .
*2 For details in the input section, please check the drawings.
*3 Inner dimensions of CX, CY, CZ are recommended dimensions.



IA17A
Standard
type A
LT 1
8 2 B
go &
= &
o g% I‘
HO—XE A=y 547 > =
Closed Type, Unit
. = BHEE—XV b 2
"j'sff7\ Weight Moment of inertia § %
WPU- |:| = |:| -CN 126 kg x10*kgm? g'
]
WPU_ (1= _CF 35 0.50 0.0377 g
42 0.68 0.0856 g
50 095 0.207 "
63 1.5 0.544 5 &
80 3.3 1.63 o5 :%.
LE 58 3
LF LM =2 }E%
LH LG |LK E
Y N-LU — —
0-ring NoLT gé z\j:
0-ring — >@ B
= —— . g5 &
] = : O £ m
%:_B h c S5 =
h % ' W(Js9) ]
- = b S— é’) = ' j-- \ — - L
HEHE - = Y Hj 4 ? ees A
| 578 #
—— / 25 B
“] g e ] - %
o1 =
e BSH (H7) SE K
sU 2-M3xk X sL <8 f¢
$3 f
E RN 3
i g
o 5 = |
INPUT SHAFT FOR 35&42 [mm] % J\li_
. )Y
VAKX LA | LB | LC | LD |N*'| LT | LU | LE | LF|LG|LH|LK|LM | DB | SG = 7
35 | 65 | 56 | 73 | 31 |8(6) M4 | 45 | 41 | 27 | 7 | 35 | 2 14 | 38 | 158 ’
42 | 71 | 63 | 79 | 38 |8()| M4 | 45 | 45 | 29 | 8 4 2 16 | 48 | 15.8 823 g%
50 | 82 | 72 | 93 | 45 |8(6)| M5 | 55 |455| 28 | 10 | 5 | 3 |175| 56 | 248 % %%
63 | 96 | 86 | 107 | 58 [10(8) M5 | 55 | 52 | 36 | 10 | 5 3 | 16 | 67 | 278 230 i
80 125 113 138 78 12 M6 6.5 62 45 12 5 3 17 90 27.8 § 2
g5 E |
YA X .
Size SH SL W T SU SA SB SC M ST HD | CX CcY Ccz e 4
o g
88 6 18.5 - - 2.5 23 11 8 6 |M4x8 95 1.6 1 38 % %L
42 8 20.7 - - 3 27 10 7 6 |M5x8l 95 1.3 1 45 =
50 | 12 |215| 4 |138| - | 32 | 14 | 10 | 8 [M6x9 9 | 15 | 15 | 53 o |
63 14 21.6 5 16.3 - 42 20 15 8 |M8x10] 12 3.4 1.5 66 8 ]7%
z |
80 14 23.6 5 16.3 - 55 26 20 8 [MIOx12] 15 52 1.5 86 5 %
¥ 1-CN & -CF THENERRU T, *1 -CN and -CF are different in dimensions. The -CF value is shown in () . %D’
() AlE-CFnfETY, *2 For details in the input section, please check the drawings.

2 ADEREHMIC DL TR, BIETERICTHERET S,
¥ 3 CY, CZ 37 —AREEHEE~TETT,

*3 Inner dimensions of CY, CZ are recommended dimensions.

FLEXWAVE WP>1—X 8



Standard type A
~F3yE3ZR Dimensions Table

A—TVE By NI4T
Open type, Simple unit

R = BHEE—XV b
"fs’f Al Weight Moment of inertia
WPS-[1-[]1-SN e kg x10"kgm?
35 0.39 0.0391
42 0.55 0.0870
50 0.79 0.209
63 13 0.549
80 07 1.65
LE
LF LM
SC LJ LH
M-¢ST LG
Yy
N-LT
! N\
m&
W(JS9)
v 1—h
EE = @C)D NEE —_ |
EE ECE R
P — \_‘
& {%]J» #SH (H7)
I_'-_\/ ‘\(b\f
su 2-M3x4, < sL e AT
SN F X
B (8/12 EiQUAL \ !‘ '\6/201EDUAL X,
[‘—ri‘] ® i " i i *
[h \“‘T‘X \‘1»}*‘(‘
E‘ “N-LT" “N-LT"
INPUT SHAFT FOR 35842 ARRANGEMENT FOR 35 ARRANGEMENT FOR 42
[mm]
*JLSTL eZ LA | LC | LE| LF|LG|LH| LW |M|sGg|SH|sL|w]| T |su|sAa|sB
35 | 44 | 50 | 285|235| 6 | 7 |141| 5 |158| 6 |185| - - | 25| 64 | 48
42 | 54 | 60 |325|265|65 | 75| 16 | 6 |158| 8 |207| - - | 3 | 74| 60
50 | 62 | 70 |335| 29 | 75 | 85 | 175| 45 |248 | 12 |215| 4 |138| - | 84 | 70
63 | 77 | 85 | 37 | 34 | 10 | 12 |187| 3 |278| 14 |216| 5 |163| - | 102 | 88
80 | 100 | 110 | 44 | 42 | 14 | 15 |234| 2 |278| 14 |236| 5 |163| - | 132 | 114
sl Alsc|sD| M |[sST|cajlcy|cz|cv|cw| N LT
35 | 24| 70| 8 | 35]co3| 1 |3 |16] 31| 8 [M3x5 ¢35x6
42 | 3 | 80 | 12 |35 |C03| 1 | 45 | 2 | 37 | 16 M3x6, ¢ 35%65
50 | 3 | 90 | 12 | 35 |C03| 15| 53 | 2 | 44 | 16 M3x6, 35% 75
63 | 33 | 110 | 12 | 45 |C03| 15 | 66 | 2 | 56 | 16 |M4 x 7, ¢ 4.5 x 10
80 | 36 | 142 | 12 | 55 |C05| 15| 86 | 2 | 72 | 16 |M5x8, ¢ 55 x 14

M ADBRFMICOWNTUE, BIETERICTHET S,
#2CV, CW, CY, CZ 37 —AANEEHE~ETT

*1 For details in the input section, please check the drawings.
*2 Inner dimensions of CV, CW, CY, CZ are recommended dimensions.



FA—TVE A=y oA T (FZEE])
Open type, Unit (hollow shaft)

WPU- ] -[]-SNH

ﬂ—Sé ex Weigg%n Tﬁlﬁgt of>i(ne/rti|s;
kg x10*kgm?
85 0.57 0.103
42 0.79 0.230
50 1.1 0.460
63 1.7 1.24
80 3.4 3.18

LE

LG

LF

L

H

4+
Ki f{'ﬂ\x
fs/ 2EQUAL) T_16/20 EQUAL ‘(
T / ; !
P ‘ /‘ & #
\1%_1 L /{‘
NLT" N-LT"
INPUT SHAFT FOR 35442 ARRANGEVENT FOR35  ARRANGEMENT FOR 42
[mm]
-'j-S\/LeZ LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
B 44 36 54 70 525 | 205 12 20 7.5 8 9 2.5 55 6.5
42 54 45 64 80 56.5 23 12 21.5 8.5 8.5 10 2.5 5.5 6.5
50 62 50 75 90 515 25 5 21.5 7 9 10.5 - - -
63 77 60 90 110 55.5 26 6 23.5 6 8.5 10.5 - - -
80 100 85 115 142 65.5 32 7 26.5 9.5 12 - - -
YAX| sa | sB | sc | sD| SE|SF| M |ST|su| N LT
89 64 - 14 20 74 36 8 3.5 M3 8 M3 x 5, ¢ 35 x 11.5
42 74 - 19 25 84 45 12 3.5 M3 16 M3 x 6, ¢ 3.5 x 12
50 84 255 21 30 95 - 12 35 M3x6 16 |M3x6, ¢ 35x 135
63 102 33.5 29 38 115 - 12 45 M3x6 16 |M4x7 ¢ 45x%x 155
80 132 40.5 36 45 147 - 12 55 M3x6 16 |M5x8, ¢ 55x205

FLEXWAVE WP>1—X

UoIBWIOUI JUBDLIGN|

suoponJsul Ajlquesse

=%
I1TA

Standard
type A

S

suoneoloadg
/ [opOIA Jeonpay

a|qeL suoisuswig

UoIeWNSe 8yl

SR ) MRS

(Buleaq onse|3)

(Bulleaq ulely)
UOIBWINS® 8§l

/yeys indul
1B Peo| WNWIXe

Juswalinbal
2INIXI} JUBLIYOBNY

pue uole|eisu|
anbJo| Bumiwsuel|

ainpaooid
uolje|[e1sul 1010} | /ednjonuis uonoses Induj

BlR( SoNsleloRIBYD

| PR Ra

S

A

(Mg ) SRS M | (e

OB >

i

I

I

et




Standard type A
~F3yE3ZR Dimensions Table

F—TVE A=y NyAT (A S1EH)

Open type, Unit (input shaft)

S

N = EEE—X Vb
"jé’f Al Weight Moment of inertia
WPU- []1-[1-SNJ e kg x10“kgm?
5 0.48 0.0376
42 0.69 0.0897
50 1.0 0.208
63 1.6 0.554
80 3.2 1.74
LE
LG LF LH
L LK LJ
M-gST
HO TR ﬂ
/ N LR
B . SC sV o8 La E
/ u \
i N I | |-
o—{&H <} I
Q)L)P 3 /’ ° E
| 2
F | B =
- 1=
Lp
- ﬂ 4 -+
QFL =1 R
Fameaua P we0poual ¥
N LAy g
P ‘ ) ‘
L \‘W'X \‘1,‘%4—'{‘
INPUT SHAFT FOR 35342 ARRANGEMENT FOR 35 ARRANGENENT FOR 42
[mm]
-H-Séez LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
89 44 36 54 70 50.5 | 20.5 15 15 2.5 8 9 11 - -
42 54 45 64 80 56 23 17 16 3 8.5 10 12 - -
50 62 50 75 90 63.5 25 21 17.5 3 9 10.5 - 16.5 20
63 77 60 90 110 72.5 26 26 20.5 3 8.5 10.5 - 22.5 25
80 100 85 115 142 84.5 32 26 26.5 5 9.5 12 - 22.5 25
YAX| sa | sB | sC | SE| SV |[Sw | M | ST |SU| N LT
B 64 6 - 74 - - 8 3.5 - 8 M3 x 5, ¢ 3.5 x 11.5
42 74 8 - 84 - - 12 3.5 - 16 M3 x 6, ¢ 3.5 x 12
50 84 10 8.2 95 3 3 12 35 M3x6 16 |[M3x6, ¢ 35x%x135
63 102 14 11 115 5 5 12 45 M5x10 16 |[M4 x7,¢ 45x%x 155
80 132 14 11 147 5 5 12 55 M5x10 16 |[M5x 8, ¢ 55 %205

11



=%
I1TA

Standard
type A

A\Y
FIoETE (SEMEERSE) Life estimation (Elastic bearing) T
==
9o =
a2 T
W =, e Z
R A AT E
Life span for the elastic bearing
o <
3 s
2 &
== ] ~ | | 2
W EeR/ Y-V T, | | § =
Operation cycle example afr by ' T, | A
Working torque } T, ! T, g
1 +
| ETjF'aEJ ————
} } ime oF =
| | zg l:'-ll'-l
n ny n 5‘5. E'I'
S~ g ¥
3w
Hi ) B 5 Ny g &
tput rotati 2
Gupgretton 1t |t [t | 4 | g =
Time 2 &
S o ﬁ_ﬁ
o2 =
DFHEA b LY - BAHA P LY DEH Q!
Calculation formula for output torque es %
3 ¢ 3 n.t 3 %
EHEA MLy Tao | Nm  Tao=s| M Ee| Tyl ™+ Mo oo To| oeet Moo £ T ==
Average output torque Nt +n,eteeen et gg% {}%%é
842 1]
523270
RAH bILY Tmo | Nm /MO =Tu To coe T, DFKIE s 8 &
Peak output torque value Tmo = Largest among T, T,, =-- T, § o 1/?_.}
o =]
> )
BoRH ML B BAHAUT THSD & & CHET S m—
Please make sure the peak output torque is below the maximum output torque in the specification table LED g {E}
3 g *z
QB AN - B AN EEHOHEH .
Calculation formula for mput speed g
[0}
qzigﬂjjjlﬁliiﬁ g — n7.t7 +n2.t2." nn.tn S E—
Average output rotation speed nao | r/min  nao ttt,t et t, ;§ fé
©  I=E
2R
= > L
BEE A EEEY amo | t/min 770 = M N2, DEKIE Sy
Peak output rotation speed nmo = Largest among ny, ny, *** n, 3
YA S EEREL - ; - = b = ot FEEF Y
Average input speed nai | r/min  nai=nao x R (R=E#EE) (R = ratio) 233 g%
528 EH
o _ SSSIEE
B A ElERH : - _ - s . 558 At
Peak mput speed value nmi | r/min  ami=nmo x R (R=E:&EL) (R = ratio) g ©
g 2
e ANBEHIHFEESANRGEHLU T THD L CHERTSL ° 3
Please make sure the peak input speed value is below the maximum input speed in the specification table Tz % [
8¢ |
QFarfFHEDETE £3 E?X
Calculation formula for life span 5 %L
o
‘
Tar \8_ [ nar '
oo RS | jhe | h | Lhe= 7000 x — L
art life span for the elastic bearing Tao nai Q
: o
EHENILY Tar | N | EREROFFAEH bLY & 7
Rating torque Nominal output torque in the specification table % 5',
O
TERE AT EIRREL : : &
Rating input rotation speed har r/min | 2000 r/min |

FLEXWAVE WP>1—X 12



13

Standard type A
FEaEtE (EHF) Life estimation(Main bearing)

B EEHTAR(VOAO—J85%) Main bearing specification(Cross roller bearing)

JOQEYFAE | #71y bE | EABTEREE | BAREEEE | FRE—XV b | =XV Ml
- 4 4 | Pitch circle diameter Offset Basic dynamic |Basic static load |  Allowable Moment
: . of the bearing rollers load rating rating moment rigidity
Series Size
Dm L C Co Mal Km
m m N N Nm x 10*Nm/rad
85 0.0350 0.0095 4700 6070 41 4.38
WPU-0-0-CF 42 0.0425 0.0095 5290 7550 64 7.75
o 50 0.0500 0.0095 5780 9000 91 12.8
WPU-[I-[J-CN
63 0.0620 0.0115 9600 15100 156 24.2
80 0.0800 0.0130 15000 25000 313 53.9
85 0.0500 0.0102 5800 8600 74 8.5
42 0.0600 0.0119 10400 16300 124 15.4
WPS-[J-[J-SN | 50 0.0700 0.0120 14600 22000 187 25.2
63 0.0850 0.0141 21800 35800 258 39.2
80 0.111 0.0159 38200 65400 580 100
85 0.0500 0.0217 5800 8600 74 8.5
WPU-C1-CI-SNH 42 0.0600 0.0239 10400 16300 124 15.4
el 50 0.0700 0.0255 14600 22000 187 25.2
WPU-[]-[J-SNJ
63 0.0850 0.0296 21800 35800 258 39.2
80 0.111 0.0364 38200 65400 580 100
Y =L 3= A=
THMZHFEGITE |
Life span for the main bearing Fr, |
Fr, !
W ER/y— SUTIVEE | P
Operation cycle example Radial load ! Fr, gﬁfgﬁ
Fa,
Fa,
TEIUYILE Fa,
Axial load Fas ik
! Time
ny 2 N3 i
Hi A EER  \Un
Output rotation : ]
speed Lyl [t Yy ‘ Time
W S\ EBETET
External load L
e L i J?
| L = 5 = L1
Fr i 1
@ | w £ £ r £
] a (=) L a
3 LFa g J J
— O
] - &




S147A
Standard
type A
g8 il
82 BE
ge
Sz #
23 =X
= == N @
ORKEBRE—XVIOHEH S
Calculation formula for the largest working moment
BRERE—XV b 9 ~f
Peak morki Mm Nm Mm=Frm - (Lr + L) + Fam - La e Ik
eak working moment B 3=
o
BASUTIEE Frm N Frm = Fr;, Fry -+ Fr, OBRXIE %
Peak radial load Frm = Largest among Fr,, Fr,, -+ Fr, 8
BAT v ILAE Fam N Fam=Ffa, Fa, - Fa, DERKIE —
Peak axial load Fam = Largest among Fa,, Fa,, --- Fa, gf ?ﬁ
BABHE— X MEBE—XY MATTHE L ETHRTEL !
Please make sure the peak working moment is below the maximum allowable moment % S =
e u
QFHSVTINHTE - FHTF vLHE - FHHARER FHEFE— XV FOHEE 55 %
S o
Calculation formula for the Average radial load, Axial load, Average output rotation speed, g‘é &t
Average working moment 22 ¥
&g =
#h
S T IVEE - ¥ AL el Fro| %54 | Fr | Yoenet e el 1| 5 3
Average radial load - Nt tn.etteetn -t
1701 2 t2 n tn c5Z
ggg HA
10 10 10 843 7? %é
321572\'_—:/-\7)[/?%'@ Faa N Faa="s| ™" te| Fau| /3+'72‘ ty+| el /3+'"+ Mo Lor| Fa] & %ié_ J_U)
Axial load Nt + bt tn ot g 8 E;r
.
S H T [EER R nao | r/min  nao = Nty 0, teeen, -ty =
Average output rotation speed B4t 4 oeeett 32 B
1 2 n aF X
P 3 33 5
A:Fiéj’,éﬁjf—)( vk Ma Nm  Ma=Fra-(Ur+Ll)+Faa-la 22 B
verage working moment z
3

QRERM -BEM>Y 7 IILREOHEH

Calculation formula for the Loading factor, Equivalent radial load

anbJo| Bumiwsuel|
—
<

Faa <150%&. Xc=1.0, Yo= 045
Fra + 2Ma / Dm |

TIERE 855
Loading factor Xc, Yo . - % 23 %%
ad > 15084, Xc=067, Yo=067 S
Fra + 2Ma / Dm 223 A8
BEM S D7 TE _va. _ s 2
Equivalent radial load Pe N Pc = Xc - (Fra + 2Ma/Dm) + Yc - Faa s 3 i
RS
g5 )|
@32 DFaEFE O LW
Life span for the main bearing 5 75
10 lf
EEZ S an e 10° cC \3 L
Life span for the main bearing Lhe h Lhc= 60-nao | fw- Pe Q ’-]’F;
1.0 : BEE#EDEVES  no shock g 7
o =4 @
Irﬁlfﬁi%or fw = 1.2 ZLOEEZHSHBE  with some shock é
1.5 IRBEREHSHE with shock and vibration .

FLEXWAVE WP>1—X 14



Standard type A
ATENDEFRTE Maximum load at input shaft

W EZ AR (F—T VB, 22y 94 7) Bearing specification (Open type, Unit)

L

X7YvT A X7YvIB
Bearing A Bearing B
y—= Y42 EAREEREE EABERTE EARBERTE EARFEEETE a b
Series Size | Basic dynamic load rating | Basic static load rating | Basic dynamic load rating | Basic static load rating
C Co © Co
N N N N mm | mm
35 4000 2470 4000 2470 16 27
42 4300 2950 4300 2950 16 31
WPU-[I-CJ-SNH| 50 4500 3450 4500 3450 145|275
63 4900 4350 4900 4350 155 30.8
80 14100 10900 5350 5250 19 | 37.0
35 2240 910 1080 430 24 | 215
42 2700 1270 1610 710 27 | 235
WPU-[J-CJ-SNJ| 50 4350 2260 2240 910 315 | 26
63 5600 2830 2700 1270 375 | 29
80 9400 5000 4350 2260 39 | 385
NF7YVTA NF7YVTA
Bearing A — ] . . Bearing A —~ ] . .
7YV IB R7YvIB
\F 1 Bearing B \i i Bearing B
1 |5
a b a b
W AT E (9 AHEES: 2000r/min, F4E5 : 7000h)
Maximum load (Average input rotation speed : 2000r/min, Life span : 7000h)
WPU-[1-[]-SNH WPU-[J-[1-SNJ
800 35 500 35
\ —A42 —_—12
450
700 \ e 50 \ e 5,0
400
— 600 —3 _ \ —63
= \ ——80 Z, 330 \ 80
L \ L \
y@ 400 WE 250 \
*'SE‘U 300 N\ \ @U 200 =00
Rg \ \ l:\ 8 150 \ \
= — i
DS - \\ \ \ R w0 N\ \\i\ -
IN o IN
100
N\ N >0 NN
0 T T T 1 0 T T 1
0 100 200 300 400 0 100 200 300
THFUHILETE Fa [N] TV ILEE Fa [N]
Axial load Axial load

15




VBRI Jubricant information

ERAI)—X
Grease

237w ZMP No.2 (F55EEBFI RS %t) Sumiplex MP No.2 (SUMICO LUBRICANT CO., LTD.)
[FREESHE : 0~40°C (BHEEE) Operating temperature range:0-40°C (ambient temperature)

J)—2&H

Grease application

PUF @Y, BEE IS —2ZBH L TF I, Please apply grease according to the table below.

W J)—RBME Grease application

-BFERTCIE BRSO 7 E2 (HAR M ERE EME. THI) CKUBHEZERLTTFEL,
(T)=2ZHAEHDIZY ;AT CHERAET)DT)—ZENFREINTVET,)

RN EEE TREOHEEASIASSY ~T—2ANECERN50% DT —R & FELTFEL,

=R EKUTU—ZARET BB AR B THMLAhE RS, [ql
-The quantity of grease applied to C should BRI Applied part

be adjusted depending on the mounting HAZ c c c

drection Size | A B | (@) | (kA | (FAZ) | D

C of the unit type product is already

filled with the same quantity of grease as Horizontal [Vertical up Vertical down

horizontal mounting. 35 0.3 0.3 6 8 9 03
-For vertical up/down, 50% of the space 42 0.5 0.5 10 12 14 0.5
between input assy and casing inner wall 50 08 0.8 16 18 21 0.8

should be filled with grease.
-If the amount of grease is not sufficient 63 1.5 1.5 30 35 40 1.5
due to case design, please contact us. 80 3.0 3.0 60 70 80 3.0

W) —RBME Grease application location
| WPC-[1-[J-CF(CN) | | WPU-[]-[1-CF(CN) | | WPS-[]-[J-SN |

S22

(A =) C
Horizontal Feaped
— ] — —
o _ o <}
2 oz EED50%%FEE
ZERD50% % FTIE
Fill 50% of the gap in volume
(L) il
Vertical H | !
P = :] E i [
7T i H—
A ASSY ; AJI ASSY /
input section assembly
AF ASSY
A ASSY A
input section assembly
(TR &)
Vertical
down

ZERID50%% FTIE

TR N\ ZEBD50% % FiE

FLEXWAVE WP>1—X

=%
I1TA

Standard
type A

suoneoloadg
/ [opOIA Jeonpay

(Buleaq onse|3)

(Bulleaq ulely)
UOIBWINS® 8§l

uoljew.oul Jueauqgn|
eys indui
1e peoj| wnwixep

Juswalinbal
2INIXI} JUBLIYOBNY

suoponJsul Ajlquesse
pue uole|eisu|

ainpaooid
UOIIE|[BISUI JOJO| | /2In1onuis uoposs Indu|

9|ge] suolsuswi(

UoIeWNSe 8yl

DA | (e ) SRS

i 3

anbJo| Bumiwsuel|

BlR( SoNsleloRIBYD

S
/ SR

PR

nallllPa)
=)

(M) I}

E]

/B S

Kl 55

I




17

L

Standard type A
EN{~T¥5 R Attachment fixture requirement

B BB E Attachment fixture requirement
| WPC-[J-]-CF(CN)|

I TN
1T
=2

!
m Input
section
# S ADE

HRAEHT

Recommended tolerance — W3

Recommended

Output 2 2 -
-J ¥ L 7
BAHEE [mm]
4 X
Size 5 42 50 63 80
a 0.015 0.015 0.018 0.018 0.023
b 0.010 0.012 0.014 0.016 0.020
© 0.013 0.013 0.015 0.018 0.020
d 0.015 0.015 0.018 0.018 0.023
e 0.015 0.015 0.018 0.018 0.023
f 0.012 0.012 0.014 0.016 0.016
g 0.016 0.020 0.024 0.024 0.024
| WPU-1-[1-CF(CN) | | WPS--[1-SN |
[©f ¢b [
L] 2[4 Z-2
Casing
nput (1] 5 A

section

ADE

Recommended

tolerance

Recommended
tolerance

HERAQEHSE

HEAEHT

R
. SRR NARER;
/
1 [/
//A i
{ 7 |
BfHEE [mm]  EfHEE [mm]
*fsff 21 35 42 50 63 80 YAX | 35 42 50 63 80
ize Size
a | 0020 | 0,020 | 0.020 | 0025 | 0.025 a | 0025 | 0025 | 0025 | 0.030 | 0.030
b | 0012 | 0.012 | 0.014 | 0016 | 0.016 b | 0020 | 0.020 | 0.020 | 0025 | 0.025
c | 0016 | 0,020 | 0.024 | 0.024 | 0.024 ¢ | 0020 | 0.020 | 0020 | 0.025 | 0.025
d | 0012 | 0.012 | 0014 | 0.016 | 0.016
e | 0016 | 0.020 | 0024 | 0.024 | 0.024




1= NJLY Transmitting Torque

I NEST

Bolting

AL MLIIETROBUTTY,
RILEAE(-CF. -CNTELD) P ML ICURER B ML D RBZUEFTOTIIERE TS,
Please refer to the table below for the bolt tightening torque.

Please be noted that the transmittable torque varies depending on the bolt count (different between CF and CN)
and tightening torque.

IV M

NLY

Tightening torque for bolts

AL YA X

Bolt size

M3

M4

M5

M6

M8

M10 H#EERILL @ BRERXS 129 M E

fEft hJLs [Nm]

Tightening torque

1.9

4.3

8.7

15

36

71

(BENILY (YO—ZB. 2=y 947)

Bolt specifications and Transmitting torque (Closed type, Unit)

HH 75 VEft Output flange attachment

Recommended bolt :

Strength rating above 12.9

T4 X Size 85 42 50 63 80
RIL A X Bolt size M4 M5 M6 M8 M10
RIL b ARER Bolt count 6 6 8 8 8
B ft PCD  [mm] |Bolt PCD 23 27 32 42 55
#E4+ L4 [Nm]|Tightening torque 43 8.7 15 36 71
fmEZ bJLS [Nm] [Transmitting torque 56 106 238 566 1177
AV FILFVEST (CN) Internal gear attachment

b4 X Size 88 42 50 63 80
ALY AX Bolt size M4 M4 M5 M5 M6
RIL b A Bolt count 8 8 8 10 12
Efst PCD  [mm] |Bolt PCD 65 71 82 96 125
#E4 kL% [Nm] |Tightening torque 4.3 4.3 8.7 8.7 15
{&ZE bJLY [Nm] |Transmitting torque 210 230 430 629 1392
A5 FILFEVYEA (CF) Internal gear attachment

PP Size 5 42 50 63 80
RV A X Bolt size M4 M4 M5 M5 -
NIV M AEK Bolt count 6 6 6 8 -
Bft PCD  [mm] |Bolt PCD 65 71 82 96 -
¥+ kL4 [Nm] |Tightening torque 4.3 4.3 8.7 8.7 -
{=2E bJLY [Nm] |Transmitting torque 158 172 322 503 -

A2 R F IRV EfT

Internal gear attachment N

Yh o5y U

Output flange
attachment

FLEXWAVE WP>1—X

=%
I1TA

Standard
type A

suoneoloadg
/ [opOIA Jeonpay

(Buleaq onse|3)

(Bulleaq ulely)
UOIBWINS® 8§l

/yeys indul
1B Peo| WNWIXe

UoIBWIOUI JUBDLIGN|

wawadinbax
ain)x1y Juawiyoeny

pue uole|elsuy|

suoponJsul Ajlquesse

ainpaooid
UOIIE|[BISUI JOJO| | /2In1onuis uoposs Indu|

9|ge] suolsuswi(

uolewINSe 8

He) SBZEEDAM | (eEER) MBRESH

~rones
il

onbJoj Bunwsues)

BlR( SoNsleloRIBYD

S
/ SR

i Bk R
/ R >

PR

(Mg

HE
FHO B>

i

I

RBTE | |

=

O S 7 i




Standard type A
{=ZENJLY Transmitting Torque

(EENILY (YO—ZB aVvERY R 94F)

Bolt specifications and Transmitting torque (Closed type, Component)

T Ly AFVEUT Flex Gear Attachment

T4 X Size 85 42 50 63 80
ALY AX Bolt size M4 M5 M5 M6 M8
RIL b AEK Bolt count 6 6 8 8 8

Efst PCD  [mm] |Bolt PCD 17 19 24 30 40
#Et b L2 [Nm] [Tightening torque 4.3 8.7 8.7 15 36
{mZE b JLS  [Nm] |Transmitting torque 41 75 126 223 539

A5 FILFVYESA (CN) Internal Gear Attachment

b4 X Size 5 42 50 63 80
AL A X Bolt size M3 M3 M3 M4 M5
RIL b A Bolt count 8 16 16 16 16
Bft PCD  [mm] |Bolt PCD 44 54 62 75 100
54 bJL2 [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7
f=Z IS [Nm] |Transmitting torque 82 200 230 485 1048

A VA FILEVEST (CF) Internal Gear Attachment

P4 X Size 35 42 50 63 80
RV A X Bolt size M3 M3 M3 M4 M5
NIV M AEK Bolt count 6 12 12 12 12
Bft PCD  [mm] |Bolt PCD 44 54 62 75 100
¥+ kLo [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7
=2 bJLY [Nm] |Transmitting torque 61 150 172 364 786

A2 R FILXVEIf

Internal gear attachment

r N

Ly 2 X EIfT

Flex gear attachment

@ L RMENN Reinforcement
Ly AF VRN OEZENVIDNEREZH/-ITWGEIE. EVDOFREZSEWLLET,
EvldgA 7 oavCEMAIEETT,

Pins can be added if the transmittable torque at the flex gear interface is not sufficient.
As an option, holes can be added.

Thru hole for pins
=N

Forcing tap

WP-35, 42 WP-50, 63, 80

19



ENLY F—TFVR)

Bolt specifications and Transmitting torque (Open type)

T Ly AFYEUT Flex Gear Attachment

T4 X Size 85 42 50 63 80

ALY AX Bolt size M3 M3 M3 M4 M5

RV b AR Bolt count 8 12 12 12 12

Efst PCD  [mm] |Bolt PCD 64 74 84 102 132
#E b L2 [Nm] [Tightening torque 1.9 1.9 1.9 4.3 8.7

{=ZE b JLS  [Nm] |Transmitting torque 119 206 234 495 1037
AV HFILFVEUT Internal Gear Attachment

b4 X Size 85 42 50 63 80

AL A X Bolt size M3 M3 M3 M4 M5

RIL b A Bolt count 8 16 16 16 16

Bft PCD  [mm] |Bolt PCD 44 54 62 77 100
54 bJL2 [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7

{=ZE bJLY [Nm] |Transmitting torque 82 200 230 498 1048

JL v R XYy Eft

A2 7 F L EfT

Flex gear attachment

JL oy ZARVEAM

I

Flex gear attachment \

Internal gear attachment

A > 2 F )L F v Eft

qp
- \(—r/ Internal gear attachment
-1
]

JL w7 R EYEA
Flex gear attachment \

AV B F LY Ef
" Internal gear attachment

a=——F

= N B

FLEXWAVE WP>1—X

UoIBWIOUI JUBDLIGN|

suoponJsul Ajlquesse

=%
I1TA

Standard
type A

suoneoloadg
/ [opOIA Jeonpay

(Bulleaq ulely) (Buleaq onse|3)

uonBewINSe a7

/yeys indul
1B Peo| WNWIXe

Juswalinbal
2INIXI} JUBLIYOBNY

pue uole|elsuy|

ainpaooid
UOIIE|[BISUI JOJO| | /2In1onuis uoposs Indu|

9|ge] suolsuswi(

UoIeWNSe 8yl

) LS

N~

onbJoj Bunwsues)

BlR( SoNsleloRIBYD

20

S
/ SR

i Bk R
/ R >

PR

3

(Mg ) SR ED M | (M

R
OB >

i

il

I

et

=

O S 7 i

& —VIFEaR




21

Standard type A
ANTIERREE Input section structure

AFIBRDIEIE

Input section structure

ANEEEZ R T4V 547 (BEROEE) LUV Y RIATH BV ANNBEZFICIVRBUET,
FMETERICTIHER TS,

There are two types of input section structure, spline type (self-centering feature) and rigid type.

W74 5947 (BBERLEE) MUYy RyAT
Spline type (self-centering) Rigid type
[

HDLINEFE~TIE
Cam hole diameter
DLRBTEEIEETDIENTRETT . FROZBENRZTEUTOEEF AT IA V54T BRERRF
~EBRRKNEZEOEHRIZD Y RIATERVFET, FROSEANDTENBELRGEIZ. FHRIVEHLTE TSI,

The diameter of the cam opening is customizable. Holes smaller than the 'standard hole size' in the table will be
built in the spline type. Holes equal to or larger than the 'standard hole size' and smaller than the 'maximum hole
size' will be built in the rigid type. Please contact us if you need sizes outside the specification in the table.

H v
A
I [ A
NG,
|
5 Li<F% Cam dimension [mm]
T4 X
Size 35 42 50 63 80
IRIENE 6 8 12 14 14

standard bore size

BRARINEV
maximum bore size 17 20 23 28 36

=NEE H
minimum thickness 6 7 8 9 1




=%
I1TA

Standard
type A

== : H ; DT [
SERERIR Installation and assembly instructions g2t
.c PRI
S8
sz #
22 I
AF7 - B 8h D3 HF (wee-0-0-c0) -
Shaft installation instruction |
N — < — Iy 9 S
A& - HDB(S BRI DOV TIILRME - TF v VR EZZ(TFDOBELLTT S, 3 _i
(TRIZZZH) g =
ALICIZBREABAODRAZAMTENMEALES W LD B A EICEINRVELS BEELTTEL, g
Please design the support structure for input shaft and output shaft so that both radial and axial loads are °
supported. (Diagram below shows an example) |
Inside thrust load has effect on the cam. Secure cam from the possible axial movement. ms &
hg @
o5 &
H 7% 25 o
Output shaft Ay g ﬁ
Input shaft %
OO} 2 % |
\. |’ —Iil—ill‘ gg &
] ] [ < g5 &
| i
ﬁ I l - 1 o O ﬁ o %Eﬁ
) -+ c3sMAl
l e L Hir
g Cam 255 ﬁ'@%
L o#
8 2 =2
5 =
= )
B f+f <} 5% (wee-0-0-c0) Tl
Attachment flange requirement §§ %L
TLyIRE P EETIMA TS5 I TLy I X PIRBR E DT s E
O FROTEESFOTFEL, 5
For the attachment flange that comes in contact with flex gear, please
build the corner radius according to the table below, in order to prevent = —
damage. a g2
©  I=E
[mm] © ERIIN
75 S %
Tiorm 35 42 50 63 80 g
D 245 29 34 42 55 5
R 1.2 1.2 1.4 1.5 2 e
b33 XA
t 2 2.5 2.5 5 7 t 855 B/
28 =
sS85 HiE
2, &
S
%F %
28 |
gs %
dy HY
5 f
)
%
o g |
3 &
5 %
g

FLEXWAVE WP>1—X 22



Standard type A

E—4BUT A E Motor installation procedure

MUBTB(LBEBEICE— Y ZEERVUMT2 2L IETEEF A, E—9BMUMFICHRELIMRE CHEFBZIL,
*This model is not directly attached to a motor. Necessary fixtures are to be prepared at the customer side.

E—AEfFFE WPU-0-0-c0)

Motor installation procedure

W EftFIE 1 Procedure 1

CE—AICTIVIERY AT -Attach the flange on to the motor
- E—4ERC AHASSYEEY T - Attach the input section assembly with elastic bearings to the motor shaft
caA sy AU T -Attach the unit

il 1 e 7 =

A [

B = ﬁ ——t 1 B

BEn i ~ E—4

== AF1 ASSY 4

j{;\f% input section assembly 1 B motor
a=v b
unit TS5y
flange
W EfTFIE 2 Procedure 2
- E—4EHZ AHASSYZEEY T - Attach the input section assembly with elastic bearings to the motor shaft
=TSV ERY T -Attach the flange on to the motor
ca=y MAERY AT -Attach the unit
m — f7 vy
Fal lange —
il 1 NS 5 =

|
|

T O e =
[

— U E—4
1 motor

SR | A ASSY
I\ I Eﬂ, input section assembly

= —
unit

BB ODJER Caution during installation

- BERDOBEAEO TR, BELRADTHLATRVTTS L,
* AJASSY L E—SH EEITTHRALGVLLSITERLTFE L,

- Do not use excessive force while mating parts
- Please watch for tilting during input section assembly and motor

23



=%
I1TA

Standard
type A

BpMES—4 Characteristics Data fium
sz &
28 =
o pr=E % ~—
AEGERE
Transmission Angular Accuracy |
10 2 —i
BEGEEEELR 1 2
BEWCANBERGES U BENERLD < 05 BEEERE .
A EE B E L EEOHNEGEREDE o E :
. . . oK — 00 | "M‘[,.\“J“]ll\‘”‘l‘l‘mn“\‘l‘\‘Iu W,‘ InEnnEnEN ‘m’ |
What is Transmission Angular Accuracy? & 2 (AARUHAY (i "lll m“”l”“” ”” | ””MH‘l \
It is the difference between the measured output %’i ug ws & B
rotation angle and the theoretical angle, while % -0.5 =N gg g:n\r
input shaft is rotated with no load. o %g 7%_
0 90 180 270 360 é C B
H N BHEEE A FE () 5
Output shaft rotation angle (deg) z |
ERE
[arc min] So Eﬂ\r
: g5 &l
e T4 X sz H
LR Size €8 %
Rato ™35 [ 42 | 50 | 63 | 80 4
50 2.0 2.0 1.5 1.0 1.0 ——w
80 | 15 | 15 | 10 | 10 | 10 ggg§§%
100 | 15 | 15 [ 10 [ 1.0 | 10 =55 A%
120 - 15 | 10 | 1.0 | 1.0 5 2 %
St @\
160 - - 1.0 1.0 1.0 S =
MENERFBEETY, 3z B |
Table values are reference values. g 5
£
EXFUYAOR :
Hysteresis Loss
S
=11 fath 5 B
tzT')yZDZt(i Tvv\st\nganﬁg;o g JT%
ADEEBZELTHAEIC MLOEDTHE A s L
oEOMLIEORINAEDZE tﬁfﬁ?ﬂx g
ysteresis LOsS c
What is Hysteresis Loss? ©
When torque load is applied at the output shaft ﬁ*
in alternate direction repeatedly with input shaft > KLY 2273 %
. : . L 7V °ss BN
fixed, there is residual twisting angle when Torque c28 =&
torque is back to zero. / S5 HB
In this context, hysteresis loss is the difference gag =
in the forward and backward twisting angle. s g
[arc min] kS
89
s H4 2 £3
TR Size °s
i D
o s [ a2 | s0 | 63 | 8o 5

50 2.0 2.0 2.0 2.0 2.0

80 1.5 1.5 1.0 1.0 1.0 :,3
100 1.5 1.5 1.0 1.0 1.0 g,
120 - 1.5 1.0 1.0 1.0 2
160 - - 1.0 1.0 1.0 g

FLEXWAVE WP>1—X 24



25

)

Standard type A
BrMET—4 Characteristics Data

BRRKNNVISYVE

Maximum Backlash [arc sec]
: - . o YA X
BRIy EEIE EE L Size
N o — o N Rati
ABBHRTSA V54T DHBEDHEHBINSA S TS 42 50 63 80
(DO HEWED/NNYIZy U 0 DIz UV Y R4 T TlE 50 27 27 18 16 16
What is Maximum Backlash? 100 13 13 8 8
In this context, maximum backlash is the output backlash 120 11 2 -
for spline type input shaft. (Backlash is zero for rigid type -
input, because gear engagement backlash is zero.) 160 - - 5 5
B (vyo—2B 2=y 947) K1 RS 70 ~ T, DIERER
) ) Spring coefficient at 0 ~ T, torque
Stiffness (Closed type, Unit) Ko R ILO BT, ~ T, DIFER
Spring coefficient at Ty ~ T, torque
ﬁ]“'ﬁt(i K3 MLOD T, ~ DIFEH
. Spring coefficient at T, ~ torque
ADAIZBETE L TCHARIC ML EDTRBEDE R
EHLRLNA N —
What is Stiffness? K, ;
In this context, stiffness is the output shaft twisting o E
angle and the spring coefficient, while torque load is & 2 X i
applied to the output shaft with input side fixed. ﬁ % '
®*F Ki i i
: | |
0 : H
T oammy
Load torque
. - o T4 X
BOE Ees) B Size
Ratio item unit 35 49 50 63 80
- T, Nm 2 3.9 7 14 29
- Tz Nm 6.9 12 25 48 108
K, x 10°Nm/rad 0.28 0.69 1.1 2.7 5.6
K, x 10°Nm/rad 0.45 0.85 1.7 3.3 71
50 Ks x 10*Nm/rad 0.55 1.1 25 4.0 8.3
on arcmin 2.3 2.2 2.0 1.8 2.0
6, arcmin 5.7 45 5.3 55 6.5
K, x 10*°Nm/rad 0.45 0.92 1.2 3.3 6.9
0 K, x 10°Nmyrad 063 11 18 3.7 8.1
100
190 Ky x 10°Nm/rad 0.70 1.3 2.2 4.5 10
160 6, arcmin 1.8 1.3 1.8 1.6 1.7
6, arcmin 4.7 35 4.8 4.4 49
MROEFFHETT,

Average value shown in the table



FCEIMILY
(VO0—ZB, 2=y b547)
Starting Torque

(Closed type, Unit)

[cNm]
— 517
Ratio ™35 42 50 63 80
50 17 | 39 | 556 | 87 | 19

ML EIE
ABDBIDSRESEDHEIC ADAIDEERE
RHDILY

(&R AEERE:25°C)

What is Starting Torque?

Input torque needed for input side to start
rotating (no load, ambient temperature : 25°C)

1EEEE ML
(VO0—ZB, 2=y b547)
Output Starting Torque
(Closed type, Unit)

EEEH LI LI
HAORIASEERS 5B E(C HAEA EERZ
RHDRILY

(E&fr. ABRERE 25°C)

What is Output Starting Torque?

OQutput torque needed for output side to start
rotating (no load, ambient temperature : 25°C)

80 1.9 4.2 6.0 9.5 21

100 1.6 3.5 5.0 7.9 18

120 - 2.8 4.0 6.3 14

160 - - 3.6 5.8 13

A EARFICLVENRSY EFTNT, BEETT,
W2 AHIA A WY —IPR—IUART ) v T EORERET
CLBHEBEFEINTVLEEA,
*1 For reference only. Torque value may vary depending
on the condition.
*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

[Nm]
— 517
Ratio ™35 T 22 | 50 | 63 | 80
50 | 13 | 26 | 45 | 57 | 12

80 1.9 4.0 6.8 8.6 19

100 2.1 4.4 7.5 9.5 21

120 - 5.3 9.0 11 25

160 - - 9.9 13 29

A EAREICLVENELYETNT, BEETT,
2 ATMAA A INY —UXRR—IART Y v TEDRERET
CEBHEEFEEINTVEREA,
*1 For reference only. Torque value may vary depending
on the condition.
*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

FLEXWAVE WP>1—X

=%
I1TA

Standard
type A

suoneoloadg
/ [opOIA Jeonpay

(Buleaq onse|3)

(Bulleaq ulely)
UOIBWINS® 8§l

uoljewJojul Jueouqgn|
/Meys indul
18 peO| WNWIXEIA

Juswalinbal
2INIXI} JUBLIYOBNY
Sic
puilt

suoponJsul Ajlquesse
pue uone|eIsu|

ainpaooid
UOIIE|[BISUI JOJO| | /2In1onuis uoposs Indu|

| BHE M

PR

9|ge| suoisuswi(

Yoy 21 S

uolewINSe 8
(W ) SREPEN S | (R )

FHO B>

i

I

€ — oy N
<

it

anbJo| Bumiwsuel|
—
<

ejeq solsusjovIey)

26



)

Standard type A
BrMET—4 Characteristics Data

B 1 ¢ [cNm]
SVZVIBRLY BE L, e -'j-Sl/geX
(HO—RF 1=y 9 A4T) Hatio 35 | 42 | 50 | 63 | 80
No-load Running Torque 500r/min 3.1 5.1 11.2 13.7 26.1
(Closed type, Unit) 50 1000r/min | 3.4 54 | 12.4 | 152 | 28.6
_ R 2000r/min | 3.6 | 59 | 13.6 | 16.9 | 31.3
MAWIV/ZVTIMLILIR 3500r/min | 3.9 | 6.3 | 149 | 188 | 34.2
BEEFMCEBEITINICHLER 500r/min | 43 | 7.7 | 84 | 156 | 286
AR D ILY 1000r/min | 46 | 83 | 92 | 17.3 | 31.2
(FHE. AEER:257C) 80 000rmin | 50 | 89 | 101 | 192 | 342
What is No-load Running Torque? 3500r/min | 5.4 96 | 111 | 21.4 | 37.4
Input torque needed to keep it 500r/min | 2.9 7.4 95 | 142 | 225

running with no load (average 1000r/min | 3.1 | 80 | 105 | 157 | 24.6

value, ambient temperature : 25°C) 100
2000r/min 3.3 8.6 11.5 17.5 26.9
3500r/min 3.6 9.2 12.6 19.4 | 294
500r/min - 6.1 9.2 12.4 | 26.3
150 1000r/min - 6.5 10.1 13.8 28.8
2000r/min - 7.0 11.1 15.3 31.5
3500r/min - 7.5 12.2 17.0 34.5
500r/min - - 8.0 13.9 29.1
g 1000r/min - - 9.1 14.8 | 30.8
2000r/min - - 10.3 16.2 | 33.1
3500r/min - - 11.6 17.7 | 35.7

A FERAFFICLVENEGY EFT0T, BEETT,

M2 ABEIF A Y —DPR—IUART ) v TEOREERTIC L 2HEEE
FNTVWELTA,

*1 For reference only. Torque value may vary depending on the condition.

*2 Charts does not show effects due to rotation resistance of bearings
and oil seals on the input side.

27



2

I1TA
Standard
type A
¢
1k
S0 ==
» QL I
=1 I > —_— ° e ~
IR (YO0—RB 1=y + 54 T) -
Efficiency (Closed type, Unit) L
g+
g &
BE (%] BRENLY | EEREKNLY -Percentile Load (%) is equal to load torque divided by 2 =
allowable average torque. @
N=| . o 5
FRERE : 25°C -Ambient temperature : 25°C %
. .= = *1 These diagrams represent the average value of the
1957 EEATF — s DFHETT. AT ¢
H2 ANAANL —LDR—ANTYYTFEDEE <5 Charts does not show effects due to rotation ks 7
EHICLDHEEEINTWIEEA. resistance of bearings and oil seals on the input side. 28 ¥
EEN
< %
L]
és ~
i@
WPU-35-50 WPU-35-80 EEEE SAE
g2 B4
HEp
e 500 r/min e 500 r/min 232 Q}F
90 | cmmmm 1000 r/rmin 90 | e 1000 r/min S 8 &
e 2000 r/min e 2000 /min g 2 =
_ 80 [ === 3500 r/min _. 80 { === 3500 r/min s %
: : ~
@ 70 o 70 - —
= = / 8;% B
i 60 o 60 g %% g
— — 33 15
X 50 X 50 /// S% g
ﬁ 0 / @ 0 / 3
30 30 |
=z
20 20 2 =
ERN
10 10 5 )L
0 20 40 60 80 100 0 20 40 60 80 100 C g
o
&7 [%] Percentile Load & [%] Percentile Load S
24 B
O =0 =]
WPU-35-100 5%%@%
100 23, =
e 500 r/min 5 é
90 | == 1000 r/min 3 3
e 2000 r/min —
> 80 [ e 3500 r/min g% Ji_j
® 8
3 70 i s
g / 5@ B
1 60 // 5 {%L
g . // }\f
" y
= 40 / ng,
30 g.
(]
20 7
@
10 g
0 20 40 60 80 100 1

B (%] Percentile Load

FLEXWAVE WP>U—-X 28



29

L

Standard type A
BrMET—4 Characteristics Data

TR (YO0—RB 1=y h(7)
Efficiency (Closed type, Unit)

B (%] BRENLY | EFEREKNLY -Percentile Load (%) is equal to load torque divided by
. . o allowable average torque.
FRERE : 25°C -Ambient temperature : 25°C

. .= |l = *1 These diagrams represent the average value of the
% |5 — 7t (E ¢ R
1 TST7EENT—IDFHETT actual measurement.

H2 ADRAANY =R —IAT Y T EDEER *2 Charts does not show effects due to rotation

EMICELZEEFTESINTWEEA, resistance of bearings and oil seals on the input side.
WPU-42-50 WPU-42-80
100 100
e 500 r/min e 500 r/min
90 | = 1000 r/min 90 | 1000 r/min
s 2000 r/min e 2000 r/min
. 80 s 3500 1/min - 80 [ e 3500 r/min
2 2
o 70 © 70
2 o
60 L 60
= 50 = 50
H 40 # 40 /
30 30 /
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&7 [%] Percentile Load & [%] Percentile Load
WPU-42-100 WPU-42-120
100 100
e 500 r/min e 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
s 2000 r/min e 2000 r/min
- 80 [ e 3500 r/min - 80 | === 3500 r/min
e 2
o 70 @ 70
Q © /
= = |
o 60 i 60 ////———
= 50 = 50
B 40 / B 40
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&% [%] Percentile Load & [%] Percentile Load



=

IL4TA
Standard
type A
7t
S £ BRE
ge
oz 2
- - N ° a % T
IR (YO0—RB 1=y + 54 T) =
Efficiency (Closed type, Unit) L
g =f
3 i
BE (%] BRENLY | EEREKNLY -Percentile Load (%) is equal to load torque divided by z x
allowable average torque. 2
N=| . o ; =
Jﬁ@/ﬂﬂ}%—: - 25%C -Ambient temperature : 25°C %
. o NN *1 These diagrams represent the average value of the
1 I STIEEAF— S DFEHEETT, AT 9
D4 ) — S N 1]~ i = . ] — Y =
H2 ADRAANY =R —IAT Y T EDERR *2 Charts does not show effects due to rotation gm)% ﬁ
EHICLDHEEEINTWIEEA. resistance of bearings and oil seals on the input side. 28 ¥
WPU-50-50 WPU-50-80 g’
100 100 I B
- : L0 A
90 H = To00sms 90 - == Toos min o& =
e 2000 r/min e 2000 r/min 23 nﬁ
> 80 [ e 3500 r/min > 80 [ === 3500 r/min é% >
g % £ % <z
0 60 0 60 X
£ 50 / £ 50 %/ = mAl
# a0 / # 40 / SEE RS
# /4 ® 4 823 5%k
30 7 30 ggg [2)
20 20 s & %j
5 o B
10 10 5 A
0 20 40 60 80 100 0 20 40 60 80 100 > =
&7 [%] Percentile Load A [%] Percentile Load =
sz Hy
€8
€0 X
WPU-50-100 WPU-50-120 %g ?f__'ﬁ
@
S22 Ix
100 100 g
90 H = Joorumn 90 H = Yosimn s
s 2000 r/min s 2000 r/min
. 80 [ === 3500 r/min -, 80 [ === 3500 r/min L
% 70 / § 70 § {_
© © 3 =
T 60 / T 0 é S
= 50 /// = 50 //// 3 )7[/
= = =
# 40 // # 40 //// 2
S % S
30 30 /
20 20 523 A B
10 10 Soo %‘zj
0 20 40 60 80 100 0 20 40 60 80 100 cZ2g =R
&7 [%] Percentile Load A [%] Percentile Load > 5 § L2 *ﬁ
sag =
o c —
WPU-50-160 S 2
> 3
100 N B
% @ 500 r/min é% J]E
[] cm— r/min o =
— ;ggg r;m'\n g ; 9
3 80 [ s 3500 r/min ® E:) :{a}
c Q N
& 70 S 5
Qo =}
I 60 P
= 50
f}g 40 E.g'
T2 !
[}
4 =
20 -;.;
7]
10 g
0 20 40 60 80 100 1

&1 [%] Percentile Load

FLEXWAVE WP>U—-X 30



31

Standard type A

BrMET—4 Characteristics Data

TR (YO0—RB 1=y h(7)
Efficiency (Closed type, Unit)

L

BaE(%] - BENLY | EREKNLY
BABERE : 25°C
¥1 USTEENTF - DFEHETT,

M2 AFEIA ALY —IILPR =R T v EpEER

BEHICLDHEEIEINTWIETEA,

100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
.. 80 e 3500 r/min
2
@ 70
o
o 60
= 50
# 40
30
20
10
0 20 40 60 80 100
&% [%] Percentile Load
WPU-63-100
100
@ 500 r/min
90 || e 1000 r/min
e 2000 r/min
_. 80 [ === 3500 r/min
2
o 70
o
60 /
S 50
# 40
ES
30
20
10
0 20 40 60 80 100
&% [%] Percentile Load
100
500 r/min
90 || e 1000 r/min
e 2000 r/min
. 80 [ e 3500 r/min
2
@ 70
o
o 60
= 50
B 40
R
30 14
20
10
0 20 40 60 80 100

& [%] Percentile Load

-Percentile Loa

d (%) is equal to load torque divided by

allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the
actual measurement.

*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 e 3500 1/min
2
2 70
Qo
o 60
=X 50
# 40
® /
30 7/
20
10
0 20 40 60 80 100
&7 [%] Percentile Load
WPU-63-120
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 [ e 3500 r/min
2
@ 70
Q
o 60
S 50
# 40 /
30 /
20
10
0 20 40 60 80 100

&7 [%] Percentile Load



F1TA
Standard
type A
£ g
22 m
g5 =
"{ S 7 > |J —_— ° w% I\
IR (YO0—RB 1=y + 54 T) =
Efficiency (Closed type, Unit)
€ =
3 i
BE (%] BRENLY | EEREKNLY -Percentile Load (%) is equal to load torque divided by z x
allowable average torque. 2
N=| . o ; =
Jﬁ@/ﬂﬂ}%—: - 25%C -Ambient temperature : 25°C %
. = NN *1 These diagrams represent the average value of the
1 U STEERNT I DTEHETT, AT ¢
Ny S SN A = : } —
H2 AN AN —WPR—ART YV TEDEIR 5 Charts does not show effects due to rotation gm)% 7
—_ /, A . . . . . =Ty
EHICLDHEEEINTWIEEA. resistance of bearings and oil seals on the input side. 28 2
o3 &
gz =
WPU-80-50 WPU-80-80 %
100 100 C =
e 500 r/min e 500 r/min % g ﬁ—ﬁ
90 | e 1000 r/min 90 7| e== 1000 r/min o2 =t
e 2000 r/min e 2000 r/min ©3 Al
. 80 [ e 3500 1/min . 80 [ == 3500 r/min sR
%) [9) ad ~
& 70 g 70 = §
o Qo
G 60 T 60 %
= 50 S 50 —
" “ ESTMA
R 40 = 40 55587
fe / ® 222 i
30 30 223
20 20 ¢ 8 Eif
8 e =B
10 10 5 )
0 20 40 60 80 100 0 20 40 60 80 100 5 =
&1 [%] Percentile Load &7 [%] Percentile Load - —
gz ?:xjg
€0 S
WPU-80-100 WPU-80-120 eI ¥
83 &
100 100 T
= 500 r/mi — 500 r/mi <
90 [ e ?oogrmn 90 —?00(;r’/nr‘r?in @
50 L s 2000 r/m?n 0 U e 2000 r/min
> s 3500 r/min = e 3500 r/min - -
5 70 570 5 %
D 60 D 60 § jF
E 50 g 50 % )7[/
# 40 # 40 / 2
® ® V4 E
30 30 —¥
20 20 8322 XA
10 10 SES BT
0 20 40 60 80 100 0 20 40 60 80 100 §%§ =R
&% [%] Percentile Load &7 [%] Percentile Load 5.5 " *ﬁ
o522 Jiél:
cag
s} = ~
WPU-80-160 s 2
2 C
> 3
100 Tz T
e 500 r/min 8 % ]
90 | e 1000 r/min o= 5
e 2000 /min =
_ 80 [ == 3500 r/min o5 H
S 70 z ft
o s 4
o 60 E
g 50 Q
R o
=
20 =
»
(=]
10o 20 40 60 80 100 g.

&% [%] Percentile Load

FLEXWAVE WP>U—-X 32




33

High torque type B2 [gr12517B2]

SRR Reducer Model Nomenclature

WP

C

35

50

CR

X %

V)4 947 Y4 X JBR LE a—R* i
Series name type Size Ratio Code Specifications
WP —X C: VR4 35 50 CR ANiEE
Component type
i S @51 =vhs17 42 80
WP Series T SR Igipaur;:thearft
U Ty RIAT 50 100 etc.
=y A7 (FRZEH) 63 120
Unit type
Input shaft unit
Hollow unit 80 160 SRJ
. . MO— FEEMZTEARECHERIZE L,
.*j%%?’% Ava|lab|l|ty For the code details, please check
Ratio mz%tr\wx the Dimensions Table.
Sy z 2L 50 | 80 | 100 | 120 | 160
GEJ 35
o 42
L
50
63
80
> ASEN e .
SRR Reducer Specifications
2 %3 ¥ 4 %5 %6 ®7
HFAEE AR FEHRFR K AT HREE N
. | BOEEL by by by AN EEE# AN EEE# RETE
"j',’f A | 'Ratio | Nominal output | Maximum output | Emergency stop Nominal Maximum input Lt
Size R*' torque torque torque input speed speed
[Nm] [Nm] [Nm] [r/min] [r/min] [hours]
50 7 23 46
85 80 10 30 61 3000 8500
100 10 36 70
50 21 44 91
80 29 56 113
42 100 31 20 123 3000 7300
120 31 70 112
50 33 73 127
80 44 96 165
50 100 52 107 191 3000 6500
120 52 113 191
160 52 120 191 10000
50 51 127 242
80 82 178 332
63 100 87 204 369 3000 5600
120 87 217 395
160 87 229 408
50 99 281 497
80 153 395 738
80 100 178 433 841 3000 4800
120 178 459 892
160 178 484 892

M1REZ p4 ORICANTEERLZRO T ZE WL
% 2 ABEEREL 2000r/min DESICHRT 2 RAMME

3 3 iEE) - (FIERCEFA T 2&EAME
A FHEENMEA LIERICHA T 2RKAE

¥ 5 BEAICHAT 2 TP ANEGERORAE

6 EEAICHRY DA REHOKRKIE

7 ANEERE 2000r/min, FAER bV Y ARIROFHIH

*3 The maximum torque when starting and stopping.
*4 The maximum torque when it receives shock.

*5 The maximum average input speed.

*6 The maximum input speed.

*1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table.
*2 The maximum allowable value at the input rotation speed of 2000r/min

*7 The life time at the input rotation speed of 2000 r/min and nominal output torque.



~FyEZFR Dimensions Table

HO0—XB AVRAVINIAT
Closed Type, Component

WPC-[1-[1-CR

LE
F M
H |G
HD cy
X
24T N-@LU
RO.3LLF
— - - ~. (D\"?\
& W(s9)
— =—H ) = . \
SREE & 3o e e &
Q Q Esl Q . N1 /
[~ | U e
== inca
§//4\ o @SH (H7)
O SL 4
SU . 2-M3x4 - - :
. = ElEE—XV
-[ﬁflf "j's’f Al Weight Moment of inertia
|
1 e kg x10"*kgm?
, 35 0.10 0.0362
42 0.17 0.0831
INPUT SHAFT FOR 35842 50 0.26 0.190
63 0.43 0.414
80 0.91 154
[mm]
*gééi ILA| B |LC| N | LW/ |T|LE|LF|LG|LH|LM|SG|SH]| S| w
35 | 44 | 38 | 50 | 8 | 35| M3 | 285|175| 6 2 | 11 | 14 | 6 | 185 -
42 | 54 | 48 | 60 | 16 | 35 | M3 | 325| 20 | 65 | 25 |125| 18 | 8 |207| -
50 | 62 | 54 | 70 | 16 | 35 | M3 | 335 |215| 75 | 3 | 12 | 21 | 12 | 215]| 4
63 | 75 | 67 | 85 | 16 | 45 | M4 | 37 | 24 | 10 | 3 | 13 | 26 | 14 |216| 5
80 | 100 | 90 | 110 | 16 | 55 | M5 | 44 | 28 | 14 | 3 | 16 | 26 | 14 |236| 5
?ggéi T | su|sa|sB|SD| M | sT|sv |HD|ca|cB|cx|cy]|cz
35 | - |25 | 17 | 11 | 23| 6 | 45 | M3 | 24 | Cc03|C03 | 17.1| 1 38
42 | - 3 | 19 | 10 |272| 6 | 55| M3 | 3 |Cco5|C03| 19 | 1 45
50 | 138 | - 24 | 16 | 32 | 8 |55 | M3 | 3 |C05|C03|205]| 15 | 53
63 | 163 | - | 30 | 20 | 40 | 8 | 65 | M4 | 3 |C05/C03| 23 | 15 | 66
80 | 163 | - | 40 | 26 | 52 | 8 | 88 | M5 | 32 |C05|C05|268| 15 | 86

1 AN OV T, BRTARIC TRETE L,
#2CX. CY. CZ 34— AAEHETHATT,

*1 For details in the input section, please check the drawings.
*2 Inner dimensions of CX, CY, CZ are recommended dimensions.

FLEXWAVE WP>U—-X

=k
917B2

High torque
type B2

FrF
| PHRE b B

suoneayoads
/ I9POI\ Joonpay

uonewnse eyl | ajgeL suoisuawiq
Yt -

(Buiresq onse(3)

(Bureaq urely)
UolBWINSe aj

TUSENS > | () RELEH A | (Erem) MELDH

1yeys Induy
18 PEO| WNWIXB|\

e

S}

o~

[
= T

Juswalinbal

Ik 2 >

suononJsul
Alquesse
pue uole|[eIsuU| | ainjoniis uoposs indu| | enbiol BuIWSUBI] | 8INiXl) JUSUWYOBYY | UOIBWIOUl JUBDLIgN)

i I R

ainpaooid

uoIye|[eIsul I0JO}
Yy

Ble(] sonsusioeley)
\.l

34



High torque type B2 [gr12517B2]

~FyE3R Dimensions Table

JO0—XB 2=y h5A47
Closed Type, Unit

. = BiEE—XV b
"j's’f Al Weight Moment of inertia
WPU-[1-[1-CR - kg x10kgm?
35 0.50 0.0362
42 0.68 0.0831
50 0.95 0.190
63 15 0.414
80 33 154
LE
LF LM
LH LG LK
JINESS O-ring N-LU
o N-LT
-ring —
= H— N
=E:= N ®\/
[ ] N
% 59)
NE S s gl Ely N
é?@é@i SISIFIES / \IJ
Q Q Q 1 /
Ely< L /
T ==
HD A
= @SH (H7)
< 2-M3x4 CX SL
il
(D>
INPUT SHAFT FOR 35&42
[mm]
*’Sg ex IA | B|Llc|w| N | T |W|LE|LF|LG|LH|LK|LM| DB/ SG
3 | 65 | 56 | 73 | 31 M4 | 45 | 41 | 27 | 7 | 35| 2 | 14 | 38 | 14
221 71 | 63| 79| 38| 8 | Ma| a5 a5 | 20| 8 | 4 | 2 | 16| a8 | 18
50 | 82 | 72 | 93 | 45 | 8 | M5 | 55 |455] 28 | 10 | 5 | 3 | 175 56 | 21
63 | 96 | 86 | 107 | 58 | 10 | M5 | 55| 52 | 36 | 10| 5 | 3 | 16 | 67 | 26
80 | 125 | 113 | 138 | 78 | 12 | M6 | 65| 62 | 45 | 12| 5 | 3 | 17 | 90 | 26
*JLSfZ 87\ SH | sL | w /| T |su|sa|sB|sc| M| sT|HD|cx|ocy]|cz
35 | 6 |185]| - - |25l 23] 11 ] 8 | 6 |Maxs 95| 16| 1 | 38
42 | 8 |207]| - - 3 |27 10| 7 | 6 |M5x8| 95 | 13 | 1 | 45
50 | 12 |215| 4 |[138| - | 32 | 14| 10| 8 |Mex9 9 | 15| 15 | 53
63 | 14 |216| 5 |163| - | 42 | 20 | 15 | 8 |wex1w0 12 | 34 | 15 | 66
80 | 14 |236| 5 |[163| - | 55 | 26 | 20 | 8 |wox12 15 | 52 | 15 | 86

¥ ADBRFICDOWLTUE, BIETERICTHRET I,

3 2CY, CZ (37 —AAEEHESETETY,

35

*1 For details in the input section, please check the drawings.
*2 Inner dimensions of CY, CZ are recommended dimensions.



F—TVE Iy ’NIAT

Open type, Simple unit

R = EBHEE-—XV b
"fs’f Al Weight Moment of inertia
WPS-[1-[]1-SR - kg x10"kgm?
35 0.39 0.0362
42 0.55 0.0831
50 0.79 0.190
63 1.3 0.414
80 27 1.54
LE
LF LM
SC LJ LH
G
cv
N-LT
s — (D\}
- T
(@Y 4 |
NERE g?g,\,gré \
HEE YRy e e
[NIEN Q| Q N
[ /I
& = S @SH (H7)
I's —\(‘0\5\
& _aHs.
sL /'T\“i\* )‘) 1 LN
Br2equaL $16/20 EQUAL
S B
S
.| o },( ‘
-~ ‘*\tﬁ_rf
AT INAT"
NPUT SHAFT FOR 35842 ARRANGEMENT FOR35  ARRANGEMENT FOR 42
[mm]
*gg;i IA|LC|LE|LF|LG|LH| LW |M|scg|SH|sL|w]| T |su|sAa|sB
35 | 44 | 50 |285|235| 6 7 |141] 5 | 14 | 6 |185]| - - | 25| 64 | 48
42 | 54 | 60 |325|265|65 | 75| 16 | 6 | 18 | 8 |207| - . 3 | 74 | 60
50 | 62 | 70 |335| 29 | 75 | 85 |175| 45 | 21 | 12 |215| 4 |138| - | 84 | 70
63 | 77 | 85 | 37 | 34 | 10 | 12 |187| 3 | 26 | 14 |216| 5 |163| - | 102 | 88
80 | 100 | 110 | 44 | 42 | 14 | 15 | 234 26 | 14 |236| 5 |163| - | 132 | 114
YAX sc|sD| M | ST |CA|CY|Cz|cv cw| N LT
35 | 24| 70| 8 |35 |Cco4| 1 | 38 | 17| 31| 8 |[M3x5 ¢35x6
42 | 3 | 80 | 12 | 35 |Cco4| 1 | 45 | 21 | 38 | 16 M3 x6, ¢ 3.5% 65
50 3 90 12 35 |[C04 | 15 53 2 45 16 M3x6, ¢ 35%x75
63 | 33 | 110 | 12 | 45 |Co4| 15| 66 | 2 | 56 | 16 M4 x7, ¢ 45 x 10
80 | 36 | 142 | 12 | 55 |Co4| 15| 86 | 2 | 73 | 16 |M5x8, ¢ 5.5 x 14

¥ ADBRFFIC DOV TR, BIETERICTHRIET I,

#2CV. CW, CY, CZ 37 —AANEEHEEEHETT,

*1 For details in the input section, please check the drawings.
*2 Inner dimensions of CV, CW, CY, CZ are recommended dimensions.

FLEXWAVE WP>1—X

BhLD
9147B2

High torque
type B2

| PHEE R

suoneoloadg
/ |epoIA Jeonpay

<+
&
=

a|ge] suoisuawiqg

(Bunreaq onse|)
uoewnss oy

(Bureaq urely)
UolBWINSe aj

1yeys Induy
1B PeO| WNWIXB

RS> ‘ () LD ‘ (oER) WD ‘

[ElET

~ose
TH B

UoNBWLOUI JUBDLaN

Juswalinbal
aInJxI} JUsWIYOBNY
RZR TS ‘

anbJo| Bunjwsuel|
~—
<

2t

2JNj10NJ1S Uo1oes ]ﬂdu\
=t
(ol 3

csSs =
252 ¥
3 > IH
5
o
S5 E
22 |
sz 4
°5 Hy
oo
f %
=
g 5
g M
g 7
2 |
2 4
o
=3
oo
36



i

High torque type B2 [gr12517B2]

~FyEZFR Dimensions Table

F—TVE A=y 94T (FZEEH)
Open type, Unit (hollow shaft)

R = BHEE—XV h
YA X weight Moment of inertia

WPU-[1-[1-SRH Sl kg x10"kgm?

85 0.72 0.0924
42 1.0 0.207
50 1.4 0.408
63 2.1 1.06
80 4.2 2.72

LE
LG LF LH
LL LK LJ

#LC
@LD (h7)

#SC (HT)
BLB (h7)

@SE (h7)
#SD (h17)
#SC (HT)

4+
A 'T‘\' /"(. i *‘X
T o caua P ts/20e0uAL ¥
T 1 | T f |
» ‘ /‘ & i #
\‘T"X \‘w»‘Hr’/‘

NLT" NLT"
INPUT SHAFT FOR 35442 ARRANGEMENT FOR35  ARRANGEMENT FOR 42

[mm]

PAX A LB LC LD LE LF LG LH LJ LK LL LP LQ LR

Size

85 44 36 54 70 | 52,5 | 20.5 12 20 7.5 8 9 25 55 6.5
42 54 45 64 80 | 56.5 | 283 12 | 215 | 85 8.5 10 2.5 5.5 6.5
50 62 50 75 90 | 515 | 25 5 21.5 7 9 10.5 - - -

63 7 60 90 110 | 55,5 26 6 23.5 6 8.5 10.5 - - -

80 100 85 115 | 142 | 65.5 32 7 26.5 5 9.5 12 - - -

YAX| sa | sB | sc | sD| SE|SF| M |ST|su| N LT
3% | 64 | - | 14 | 20 | 74 | 3 | 8 | 35| M3 | 8 |M3x5 ¢35x115
42 | 74 | - | 19| 25 | 84 | 45 | 12 | 35 | M3 | 16 | M3x6 ¢35x 12
50 | 84 | 255 | 21 | 30 | 95 | - | 12 | 35 M3x6 16 |M3x6 ¢35x 135
63 | 102 | 335 | 29 | 38 | 115 | - | 12 | 45 M3x6 16 |M4x7 ¢45x 155
80 | 132 | 405 | 36 | 45 | 147 | - | 12 | 55 M3x6 16 |M5x8 ¢55x 205

37



F—TVE A=y NyAT (A1)

Open type, Unit (input shaft)

N = EHEE—XV b
"jé’f Al Weight Moment of inertia
WPU- ] -[1-SRJ e kg x10“kgm?
85 0.65 0.0266
42 0.91 0.0666
50 1.4 0.155
63 2.1 0.382
80 41 1.28
LE
LG LF LH
L LK LJ
M-gST
HO TR
/ | N LR
B . SC sV o8 La (
/ u \
i N I | |-
o—{&H <} I
Q‘JV 3 /’ ° (
| 2
(E | :
. b B
Lp
- m 4 -+
GFL = R
Fameaua P we0poual ¥
Lo P
= \“T"X \‘14*‘(‘
INPUT SHAFT FOR 35342 ARRANGEMENT FOR 35 ARRANGENENT FOR 42
[mm]
-'j-STEeX LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
5 44 36 54 70 50.5 | 20.5 15 15 2.5 8 9 11 - -
42 54 45 64 80 56 23 17 16 3 8.5 10 12 - -
50 62 50 75 90 63.5 25 21 17.5 3 9 10.5 - 16.5 20
63 77 60 90 110 72.5 26 26 20.5 3 8.5 10.5 - 22.5 25
80 100 85 115 142 84.5 32 26 26.5 5 9.5 12 - 22.5 25
PAX| sa | sB | sC | SE| SV |[Sw | M | ST |SU| N LT
B 64 6 - 74 - - 8 3.5 - 8 M3 x 5, ¢ 3.5 x 11.5
42 74 8 - 84 - - 12 3.5 - 16 M3 x 6, ¢ 3.5 x 12
50 84 10 8.2 95 3 3 12 35 M3x6 16 |[M3x6, ¢ 35x%x135
63 102 14 11 115 5 5 12 45 M5x10 16 |[M4 x7,¢ 45x%x 155
80 132 14 11 147 5 5 12 55 M5x10 16 |[M5x 8, ¢ 55 %205

FLEXWAVE WP>1—X

=197
917B2

High torque
type B2

| PHEE R

suoneoloadg
/ |epoIA Jeonpay

<+
&
=

a|ge] suoisuawiqg

(Buiresq onse(3)
uonewnsa o

(Bureaq urely)
UolBWINSe aj

1yeys Induy
1B PeO| WNWIXB

IOIRE N ‘ (o) WD ‘ (o) 223 ‘

[ElET

~ose
TH B

UoNBWLOUI JUBDLaN

Juswalinbal
aInJxI} JUsWIYOBNY
RZR TS ‘

anbJo| Bunjwsuel|
~—
<

=
£ 3

o

S

S 1B

L \- =

c =

Q

2

@
g%% =B
=g H
3<S 1§
w ® -

=}

o
8§ ®
1
sz ¥
“2 Hy

:

S

Ble(] sonsusioeley)
N

38



High torque type B2 [gr/75+7B2]

FEanet = (REIMEERSE) Life estimation (Elastic bearing)

HEEZ T E

Life span for the elastic bearing

N Em Y-V

Operation cycle example

T, | |
=Ll 1% | T, |
Working torque } T, ! T,
1 i)
| ; Time
ny 2 N3
A EIER 21 &
Output rotation
Suipgrotaton 1ty | & [t ]t | g
Time

OFHHA MILY - BEREA ML DOEH

Calculation formula for output torque

SEHEN LY

Average output torque Tao

Nm

oo P G| Tt T e e ] T
net,+n,ctyeeen ot

n n

=AHSD LD

Peak output torque value Tmo

Tmo = 7—/, 7—2, o0 7;, O)EEij({E
Tmo = Largest among Ty, Ty, = T,

BRAHD LI DHBREREAUATTHE ezl

DIU—F —k \l\

Please make sure the peak output torque is below the maximum output torque in the specification table

QFH AN EERE - S AN EEHOHE N
Calculation formula for mput speed
S5 H A [EER L . Nt Enycteeen, ot
o nao | r/min nao=
Average output rotation speed t+ bt et it
e EER L nmo | r/min nmo =n;, n, - n, DEKXIE
Peak output rotation speed nmo = Largest among ny, ny, *** n,
G A ElEREL - : - _ s -
Average input speed nai | r/min  pai=npao x R (R=g&EL) (R=ratio)
= A ElEREL ; ; - . - rati
Peak input speed value nmi | r/min  nami=nmo x R (R=E&EL) (R = ratio)

R ANRGEEIHARESANBREHUT THD L& BTV

Please make sure the peak input speed value is below the maximum input speed in the specification table

QFmsE DT
Calculation formula for life span
SRS An AT ] - Tar \3 [ nar
Part life span for the elastic bearing — 2 Lhe = 10000 x Tao nai
TEM MILY Tar | Nm | TEREROFFATEM bLY
Rating torque Nominal output torque in the specification table
TEME AT [EEREL : :
Rating input rotation speed nar r/min | 2000 r/min

39



=197
917B2

High torque
type B2

= A Y . . f . .
FEaietE (EHF) Life estimation(Main bearing) Py
5z &
N F#ZAR (P O0RO—28%) Main bearing specification(Cross roller bearing) e T
o~ |
JOQEYFAE | #71y bE | EABTEREE | BAREEEE | FRE—XV b | =XV Ml 2 1
—= 44 z| Pitch circle diameter | Offset Basic dynamic |Basic static load| Allowable Moment 8 X
) . | of the bearing rollers load rating rating moment rigidity s
Series Size )
Dm L C Co Mal Km g
m m N N Nm x10*Nm/rad N
5 0.0350 0.0095 4700 6070 41 4.38 ’g_n?% §
42 0.0425 0.0095 5290 7550 64 7.75 %%— ;_t
o —
WPU-[J-J-CR| 50 0.0500 0.0095 5780 9000 91 12.8 §§ o
63 0.0620 0.0115 9600 15100 156 24.2 8’ %
80 0.0800 0.0130 15000 25000 313 53.9 g% ﬁ
35| 0.0500 0.0102 5800 8600 74 8.5 o8 &f
o3 R
42 0.0600 0.0119 10400 16300 124 15.4 é% z
WPS-[-[1-SR | 50 0.0700 0.0120 14600 22000 187 25.2 TG 8
63 0.0850 0.0141 21800 35800 258 39.2 3= %
80 0.111 0.0159 38200 65400 580 100 r;é %Eg
35| 0.0500 0.0217 5800 8600 74 8.5 “g o
WPU-0J-CJ-SRH 42 0.0600 0.0239 10400 16300 124 15.4 2 g
o 50 0.0700 0.0255 14600 22000 187 25.2 c |
WPU-[]-[1-SRJ g i
63 0.0850 0.0296 21800 35800 258 39.2 5 /ﬁﬁllj
80 0.111 0.0364 38200 65400 580 100 czT
n i kx¥3 A =L s 3= [
EERFamaTHE | 8 B
Life span for the main bearing Fr, | EERE
Fr, i Si B
MR/ (Y — SUTLEE | o
i i : RiL |
Operation cycle example Radial load 3 ‘Frs‘ Time =
o :
Fa, 2
Fa, g v
TEIYILRE Fa, 5
Axial load Fa, HT#FEEJ EDNE
! Time S
. g =
oy : B
Ny, \"3 | s =
Hi D B8R "\ n .
Output rotation u SR 223 &
speed t, t, |t t, J Time gg% =
gg: =
3 - &
N SR EsE ]
External load L —= =T
Lr L L L 58 |
piy - L1 fig
— :V> — N — S ;:) ?3
_J) ~ v = %
=
VRN ¢ : e [ el | ¢ 5
] a = L o s
© £ i s 7
JLFa a J g |
— O 5 ¥
] | ~ U - S il &

FLEXWAVE WP>1—X 40




High torque type B2 [gr/75+7B2]

FEaEtE (EHF) Life estimation(Main bearing)

DREAKERmE—XVIDEH

Calculation formula for the largest working moment

?ﬁ(ﬁﬁf?&—%‘/ > Mm | Nm  Mm=Frm - (Lr+L)+Fam - La
eak working moment
BKRZ VT IRE Frm N Frm = Fr,, Fry ==« Fr, O&KIE
Peak radial load Frm = Largest among Fry, Fry, -+ Fr,
BAT7F v ILEE Eam N Fam= Fa,, Fa, --- Fa, DEKIE
Peak axial load Fam = Largest among Fay, Fa,, -- Fa,

RARBHE—XVIMHFBRE—AVIMITCHREETHRT I
Please make sure the peak working moment is below the maximum allowable moment

QF GV T IVEE - FHTFIvILEE - FHHARERY  FHRFTE— XV MOET

Calculation formula for the Average radial load, Axial load, Average output rotation speed,

Average working moment

¥ ST IEE e | N Frasos| e telFrl s ne bl | Yot ot
Average radial load npet,+n,stbeetn t,
. . 10 10 10
SlziL—JT:\:‘/‘\”)WiIE Faa N Faa:1% n1't1’|Fa1| /3+I72- l‘2°|FaZ| /3+"’+ nn' tn'lFanl /3
Axial load nw.t1+n2.t2+...+nn-tn
T IR nao | r/min  nao= 1 Lt Nyt ny
Average output rotation speed t+ b+ e+t
n
A:'Zi/’jﬁﬁf_x Zh Ma Nm  Ma=Fra-(Lr+l)+Faa-Lla
verage working moment

QRERM -BEM>Y 7 IILREOHEH

Calculation formula for the Loading factor, Equivalent radial load

- +F;:j T = 15088 X0=10, Yo=045
ra a/Dm
HERH o | -
Loading factor ’
Faa > 1.5n8%F4, Xc=067, Yc=0.67
Fra + 2Ma / Dm
B> 7 ILEE - Xo- .
Equilvalént radial load Pc N Pc = Xc - (Fra + 2Ma/Dm) + Yc - Faa
DX Z DFHFamFE DT E
Life span for the main bearing
10
S SR 10° cC \3
Life span for the main bearing Lhe h Lhc= 60-nao * fwe Po
1.0 BHEZHEDEVEGS no shock
Im%lft{ﬁ%or fw - 1.2 ZLOEEZHSHBE  with some shock
1.5 IRBVEEZ ¥ 554 with shock and vibration

41



=k
917B2

High torque

type B2

= i - . .
ANENDOHERIRIE Maximum load at input shaft P
S & KRR
SRR
5z &
W EZ AR (A —T VB, 22y 94 7) Bearing specification (Open type, Unit) e Z
RFYVY A ~FYVYB = 3
Bearing A Bearing B % ’%
)—= Y42 EAREEREE EARBERTE EABERFE HABRTERATE a b i
Series Size | Basic dynamic load rating | Basic static load rating | Basic dynamic load rating | Basic static load rating g
C Co C Co P
N N N N mm | mm %f;f ;‘_\IF
35 4000 2470 4000 2470 16.5 | 26.5 o
42 4300 2950 4300 2950 17.5 | 29.5 §§' g
WPU-[J-[J-SRH| 50 4500 3450 4500 3450 16 | 26 -2
63 4900 4350 4900 4350 17 | 29 55 %
Seo £
80 14100 10900 5350 5250 20 | 355 g%”«. g
&5 2240 910 1080 430 245 | 21 é% F
42 2700 1270 1610 710 275| 23 - F
WPU-[J-J-SRJ| 50 4350 2260 2240 910 323|252 s %
63 5600 2830 2700 1270 373|292 f—”s %@
80 9400 5000 4350 2260 39.4 | 38.1 g Ei
x 7
— — s fa
RFYVGA RFYVIA ==
Bearing A | . Bearing A ] . . 5
° RFYVHB ° RFYVYB :
\F iﬁj Bearing B \i I Bearing B = Al
— | i 3z W |
< = | §§ =
— — FE|
a b a b ] ’%
g
5 9
W SAREE (P AHEES: 2000r/min, F4ERI: 10000h) 5
Maximum load (Average input rotation speed : 2000r/min, Life span : 10000h) = A
)
g %
WPU-J-1-SRH WPU-J-[1-SRJ - B
L
c =
800 35 500 35 e
\ —12 e 42 Ses o3 |
450 2832
700 —50 \\ 50 cgn &
\ 400 — 3 535 %
— 600 =63 — \ 5235 =
Z \ —80 Z 350 0 ; &
= 500 \ = 300 AN -
y@ 400 WE 250 AN =5 = |
*LEU 300 N\ \ #'SE'U 200 =00 \ = ’/]J
N — U nC o150 AN AN B
N [r— N = s £
IN IN = 7
100 —
O T T T 1 0 T T 1 g I[\_i
0 100 200 300 400 0 100 200 300 z T
~ i <~ e % @
TEYHIHE Fa [N] THU v E Fa [N] 5
Axial load Axial load L
FLEXWAVE WP>U—-X 42



L

High torque type B2 [&rno9+1782]
SEYBE lubricant information

ERITU—2A

Grease

237 LwoZSFB No. 1 (F8EE8FIkX S %) Sumiplex SFB No.1 (SUMICO LUBRICANT CO., LTD.)
[FREESHE : 0~40°C (BHEEE) Operating temperature range:0-40°C (ambient temperature)

J)—R&MHm

Grease application

PUF @Y, BEE RIS —2ZBH L TF I, Please apply grease according to the table below.

W J)—RBME Grease application

-BAEAMCIE BEREORU FTES (HAORTERAS, EME. TR ICKUBHEEZERELTREL,
(T)—REHABHDIZY MAT(Z.CHERAZT)DITU—RENTEINTVWET,)

“ ABIASSY ~ — 2N BEICZEEDE50% DY) —REFHELTTFEL,

=RV U—ZARET BB AR B ETEMLAh RS, [ql

-The quantity of grease applied to C should BRI Applied part

be adjusted depending on the mounting HAZ c c c

direction. i

C of the unit type product is already s A B (&) | (EAE) | (FAZ) D
. . : Horizontal | Vertical up | Vertical down

filled with the same quantity of grease as

horizontal mounting. 35 0.3 0.3 6 8 9 0.3

-50% of the space between input assy 42 0.5 0.5 10 12 14 0.5
and CaSiﬂg inner wall should be filled with 50 0.8 0.8 16 18 21 0.8
grease.

-If the amount of grease is not sufficient 63 1.5 1.5 30 35 40 1.5
due to case design, please contact us. 80 3.0 3.0 60 70 80 3.0

W7 —2RBMmE Grease application location
| WPC-[-[J-CR | | WPU-1-[J-CR | | WPS-0-[J-SR |

(A %) C
Horizontal Pre-applied
— ] — —
o] J o] ]
2 oz EED50%%FEE
ZERD50% % FTIE
Fill 50% of the gap in volume

(L) il

Vertical i | !

P E | |

‘ i H—
AF7 ASSY /
input section assembly
AF ASSY
A ASSY A
input section assembly
(FAz) ii
ertica S|
@,
down \'&\1\!&

ZERID50%% FTIE

TR N\ ZEBD50% % FiE

43



BhLD
9147B2

High torque
type B2

EX{~T¥5 B Attachment fixture requirement

02
2E s
SRR
5z &
B EAHEE Attachment fixture requirement e T
| WPC-0-1-CR | o 1
(O
3 x
(L[ ¢ L[] 2
L[ o 2
; r—2 ﬁ%iﬁ —
r o =
2% &f
s la < AH 25 ¥
= = g m
kel é *jﬁ = [
g 3 b 55 F
o S % i la: iy
section = = 3 f |A SE E»F
L #es @8 22 ®
Bl e (gg -~
on- & 7 7 Tk
2 ) ]
2% 7
23 1
EAHHEEE [mm] 23 2
H4 X S =
e 35 42 50 63 80 n
a | 0015 | 0015 | 0018 | 0018 | 0023 z
3 B
b | 0010 | 0012 | 0014 | 0016 | 0.020 s o
c | 0013 | 0013 | 0015 | 0.018 | 0.020 g
3
d | 0015 | 0015 | 0018 | 0018 | 0.023 :
e | 0015 | 0015 | 0018 | 0018 | 0.023 T
f 0012 | 0.012 | 0014 | 0016 | 0.016 £3 g
S3 18
g | 0016 | 0020 | 0024 | 0024 | 0.024 £
5 -
| WPU-O-[J-CR | | WPS-J-J-SR | : %
)
©f ¢ W = v
HREEND L &
Casing = L
% e, LW - B
. & AP g &
=2 £3 ° £
— Mgg EE *jﬁ [} L
=) #e ® 535 &
H EEND NEN] s Z
/ (2} % ==
[ % a
) ]
7, 4 -
i
BB RE [mm]  ERfHERE [mm] . B
B4 X HA X s %
e 35 42 50 63 80 S~ 35 42 50 63 80 a
a | 0020 | 0.020 | 0.020 | 0.025 | 0.025 a | 0025 | 0025 | 0025 | 0.030 | 0.030 o |
b | 0012 | 0.012 | 0.014 | 0.016 | 0.016 b | 0020 | 0.020 | 0.020 | 0,025 | 0.025 s B
c | 0016 | 0.020 | 0.024 | 0.024 | 0.024 c | 0020 | 0020 | 0.020 | 0.025 | 0.025 2 ]
d | 0012 | 0012 | 0.014 | 0.016 | 0.016 g
o |

0.016 | 0.020 | 0.024 | 0.024 | 0.024

FLEXWAVE WP>1—X 44



L

High torque type B2 [gr/75+7B2]

{=ZENILYG Transmitting Torque

AL NEATE

Bolting

RILEDEER MLIIZFTEROBY T,

IV NAREORE R ML ([CTURERTRER ML D EREUETDOTITEE TS,

Please refer to the table below for the bolt tightening torque.
Please be noted that the transmittable torque varies depending on the bolt count (different between CF and CN)
and tightening torque.

RILEERH R ILY

Tightening torque for bolts

RIL A X Bolt size M3 | M4 | M5 | M6 | M8 [M10 HEZERILE @ BBERX S 12.9 Bl E
#EAt h Lo [Nm] |Tightening torque | 1.9 | 4.3 | 87 | 15 | 36 | 71 Recommended bolt :
Strength rating above 12.9

(EENILY (Y0—RB 1=y 547)
Bolt specifications and Transmitting torque (Closed type, Unit)

HH 75 VEft Output flange attachment

PEPS Size 85 42 50 63 80
RIL A X Bolt size M4 M5 M6 M8 M10
AL AR Bolt count 6 6 8 8 8
Bt PCD [mm] |Bolt PCD 23 27 32 42 55
¥+ Lo [Nm] [Tightening torque 4.3 8.7 15 36 71
{=2 bJLY [Nm] |Transmitting torque 56 106 238 566 1177

AV FILFTES (CR) Internal gear attachmen

=

b4 X Size 85 42 50 63 80
ALY AX Bolt size M4 M4 M5 M5 M6
RIL b A Bolt count 8 8 8 10 12
Bt PCD [mm] |Bolt PCD 65 71 82 96 125
¥4+ Lo [Nm] |Tightening torque 43 43 8.7 8.7 15
{2 FJLS  [Nm] |Transmitting torque 210 230 430 629 1392

A 2 F )L F v Eft
Internal gear attachment N

HhH 75y Eft
Output flange
attachment

45



(=162

917B2
High torque
type B2
LT
S Hm
ge
5 o
— N T IS o 3 & T
TEPNILY (Un—2E avKRY I 4T) £ =
Bolt specifications and Transmitting torque (Closed type, Component) & —é
2
. 2 ®
7Ly AFEUT Flex Gear Attachment S
H4 X Size 35 42 50 63 80 g
ALY AX Bolt size M4 M5 M5 M6 M8 R
AL M AER Bolt count 6 6 8 8 8 @% i
Heft PCD [mm] |Bolt PCD 17 19 24 30 40 %% i
#E b L2 [Nm] [Tightening torque 4.3 8.7 8.7 15 36 gif% o
{=Z FJLS [Nm] [Transmitting torque 41 75 126 223 539 é’j %ié
A VA FILEVYESA (CR) Internal Gear Attachment §§ ?ﬁ
H4 X Size 35 42 50 63 80 "
RILhHA X Bolt size M3 M3 M3 M4 M5 35 3
RIL M AE Bolt count 8 16 16 16 16 T
Huft PCD  [mm] |Bolt PCD 44 54 62 75 100 o= A
¥+ kL4 [Nm]|Tightening torque 1.9 1.9 1.9 4.3 8.7 Eg b2,
{=ZEFJLY [Nm] [Transmitting torque 82 200 230 485 1048 %g %ﬂé
5 &
P s
A28 F LRV *E |
Internal gear attachment N— S
g B
r — = Al
7Ly v ¥V Ef g L
Flex gear attachment 3= Ey
S f
S | S CEN
52 K
I ~ . F_:' 1£
OV IRMEN Reinforcement Z ;%
3
. —. S s o . R
Ty RAF VYR DGEENVIDEREZBLESEVHEF. EVORZEEWLET, =
EVRIEA 7o ay TEMATEETT, E
Pins can be added if the transmittable torque at the flex gear interface is not sufficient. é A
As an option, holes can be added. 8 iz,_jﬂ
S B
& -3
Thru hole for pins S =
=N s L
2 2 5

Forcing tap

WP-35, 42 WP-50, 63, 80

ainpaooid

uoIye|[eIsul I0JO}
Yy

Ble(] sonsusioeley)
\.l

FLEXWAVE WP>1—X 46



L

High torque type B2 |[grno5+7B2]

{=ZENJLY Transmitting Torque

EENILY (=78

Bolt specifications and Transmitting torque (Open type)

7Ly AFVEUT Flex Gear Attachment

T4 X Size 85 42 50 63 80
ALY AX Bolt size M3 M3 M3 M4 M5
RIL b AEK Bolt count 8 12 12 12 12
Efst PCD  [mm] |Bolt PCD 64 74 84 102 132
#Et b L2 [Nm] [Tightening torque 1.9 1.9 1.9 4.3 8.7
{mZE b JLS  [Nm] |Transmitting torque 119 206 234 495 1037

A V5 FILEYEUT Internal Gear Attachment

b4 X Size 5 42 50 63 80
AL A X Bolt size M3 M3 M3 M4 M5
RIL b A Bolt count 8 16 16 16 16
Bt PCD  [mm] |Bolt PCD 44 54 62 77 100
54 bJL2 [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7
{=ZE LY [Nm] |Transmitting torque 82 200 230 498 1048

3 B 1> 2L E v Eft
_%‘{ Internal gear attachment
JL v R XYy Eft

Flex gear attachment N ‘

Ly Y REVEM e A2 2 F L FvEf

Gl
Flex gear attachment N\ ~—@—r/ Internal gear attachment
O —F 1

T 1> 2 F VX VERE
Ly 9 2 Y Bt . Y Internal gear attachment
Flex gear attachment “\ 11

1 ||

47



=k
917B2

High torque
type B2

AFEZRFEE Input section structure

28 1Ll
8 2 Bk
gao ik
28 =R
\ﬂ: [} -
ANEBDIBE -
Input section structure © < B
. > o = N N NS > e 7 — %D \\f
ANEBER NI LIAT (BBAOEES) L)V Y RIATHH) ADNREZICLVERVES, z %
B HARIC TR T E L, .
There are two types of input section structure, oldham type (self-centering feature) and rigid type. S |
75 =
2g g
> ° = N . N~ > o ;: n%
B AT LIAT (BEROEE) [ IAVE N g§ 2
Oldham type (self-centering) Rigid type 3" %E
2= & |
g ®
| — 5 iy
8s =
1
L/ N
cE A
. o2
55 2
.
o AT
o 28
g B
= Al
s N -
D LINFETE &
Cam hole diameter 3z H |
P N — N ) N 4 N N > S 4 §§ {TJ-
ALNRETERFEETDIENFARETT  TROBENRFTELUTOHEIE AN LYAT RERE~ EERE
BRANZEOHE (L)Y RIATERVES TROSENDOTENBELHEE SRVEDLE TS, 22 =
The diameter of the cam opening is customizable. Holes smaller than the 'standard hole size' in the table will be 3
built in the oldham type. Holes equal to or larger than the 'standard hole size' and smaller than the 'maximum hole 3 =
size' will be built in the rigid type. Please contact us if you need sizes outside the specification in the table. § E
= Is
)
O] g 7
H v Z A
s N
s B
4 - B
o (/0 : &
\ / 5
| [ —
] z2g2 X
88 B
:'.gg_ $
373 m
35 E |
i
71 Ls=Fi% Cam dimension [mm] °E &y
FAX s i
Size 85 42 50 63 80 q
BRENEZE o 4 |
standard bore size 6 8 12 14 14 g E
BANEV = 7
maximum bore size 17 20 23 28 36 &; ;l,
g H 6 7 8 9 11 .

minimum thickness e

FLEXWAVE WP>1—X

N
(0]



49

High torque type B2 [@rno517B2)
SERERIR Installation and assembly instructions

AF - HHEh 0D (WPC-0-01-CR)

Shaft installation instruction

A& - HDB(S BRI DOV TIIRME - TF v VR EZZ (TR OBELLTTEW,
(TRIZSZEH)

ALICIZBREATDIODRAS A MTENMERLET LD A EICEDEVEL D BEELTFEL,
Please design the support structure for input shaft and output shaft so that both radial and axial loads are

supported. (Diagram below shows an example)
Inside thrust load has effect on the cam. Secure cam from the possible axial movement.

H 7%
Output shaft AFEh
Input shaft
l l - o]
Y _ _ [ —r —
F{ B |— _Ho— ﬁ
1 g e
- Cam
BEX{~f ~F ;% (WPC-0-0-CR)
Attachment flange requirement
TLyIRF Vv EETIEMA T/ I 7Ly I AF VERER DT
O TEROTEESFOTFEL, -
For the attachment flange that comes in contact with flex gear, please ] ,7i|>
build the corner radius according to the table below, in order to prevent
damage. L | o
[mm] S
Ee) al
o 35 42 50 63 80 L1
D 24.5 29 34 42 55
R 1.2 1.2 14 15 2 R
t 2 25 2.5 5 7 t




=k
917B2

High torque
type B2

E—4BUTHE Motor installation procedure

28 L
SS kEE
MUHIELREBCE— Y Z2EERYMT 22 LETEEEA. E—FBMYUMIFICLELIRE CERBIIZE W, 58 & @
*This model is not directly attached to a motor. Necessary fixtures are to be prepared at the customer side. %% 7
@ % =
E—YHUF A% (wpu-0-0-c0) 1
Motor installation procedure 3 ,_é
S
B EAFIE 1 Procedure 1 2
. %_9(:75~/:/~‘;&HXUH-U— -Attach the flange on to the motor g
- E—4EHC AHASSYEEY T - Attach the input section assembly with elastic bearings to the motor shaft ~C B
— -Attach the unit &”%
‘Az bABRUR 4

l
[T
I
J
I[
fi
I
|
(11
I

1
[H]
I
1
1
(Bureaq urely)
UolBWINSe aj

|
ma

|

i

[

1

L= 3 1 {H &5

NSNS | (ditht) MRPESD A | (rEmR) MEESHI

35

I - i 3
| 2 8
—}+ - - _ o T

= /.8 A% ASSY . e 4§

] input section assembly S B
azv b L

unit 75V g

flange .

B EAFIE 2 Procedure 2 g {E:? B
- E—4ERZ AHDASSYZEEY T - Attach the input section assembly with elastic bearings to the motor shaft g% \\g
CE—HCTSVIERUMT -Attach the flange on to the motor 2; B

— -Attach the unit <
"=y bAERU T ¢ L
5
g =
— o~ 7579 % )]L
—=- = flange ] =Y
- IBEE=, + R==Rx g
o B ﬂ s A
A e 7
g B
“H—+-1+—t = % ~—— I == e S 5
B BB . E—% 3337 i
| motor 883 H
178 . AF) ASSY 558 m
I\ I % input section assembly E
— o
azv b T £
unit g |
8z 4
sa H

R0 ERE Caution during installation

- BERDOBEAEO TR, BELRADTHLATRVTTS L,
* AJASSY L E—S EEITTRALGVLELSITERLTFE L,

- Do not use excessive force while mating parts
- Please watch for tilting during input section assembly and motor

ele( SONSUBIOBIRY) | UOIe|[BISUl 1010\
P

FLEXWAVE WP>1—X 50



51

High torque type B2 [gr/75+7B2]

BrMET—4 Characteristics Data

SFTVT AV FILY (Closed type)

L

Ratcheting torque [Nm]
L e
Ratio 35 42 50 63 80
50 120 220 340 650 1400
80 140 250 410 700 1600
100 130 210 340 690 1300
120 - 200 310 680 1200
160 - - 300 620 1000
F_:IgE ]\}1/7 (Closed type)
Buckling torque [Nm]
B 5
Ratio 35 42 50 63 80
50 ~ 160 260 500 800 1700 3500
TJFTVT AV NILY (Open type)
Ratcheting torque [Nm]
L, 5
Ratio 35 42 50 63 80
50 120 220 340 650 1400
80 140 250 410 700 1600
100 130 210 340 690 1300
120 - 200 310 680 1200
160 - - 300 620 1000
EEJE FJLZ (Open type)
Buckling torque [Nm]
AL 5
Ratio 35 42 50 63 80
50 ~ 160 180 350 590 1100 2400
RE L FEHOBR

BEHIIEIELIZEE)

a

MLYE(
Load torque ratio(when average of allowable torque is 1)

=L

18.0

16.0

10.0

8.0

6.0

4.0

2.0

0.0

Relational diagram of intensity and life

\ L EEE b L% Buckling torque

v BtEES G Life of elastic bearing

LoFzvTavT by

v 7 Ly U A Y RIER S IREE Faiigue strengih of the bottom of the Flexgear

Ratcheting torque

TIEEERA LY
Emergency maximum torque

THBRK ML Allowable maximum torque

T A ML Y Average of allowable torque

10¢

108 10°

AF DK EIEREL ([])

Total number of rotations of input shaft [times]

1010

MERIVITEERNT S 2L EITERLE L, 8B LTLLZEL,
* The graph is based on actual measurement value. For reference only.



(=162

917B2
High torque
type B2
28 L
S Hm
ge
5z &
— 2 @ g :c\
AELERE g
Transmission Angular Accuracy © <
10 e Jk
—_ 2
BEEEBEL(E .
WAMCANMEEES U BENBEH LD £ 0 AEREHE g
SR E L EROHNEEAE DZ °E o
. . oK — 00 | "m‘l,.\LIJm]I\‘H‘l‘l‘l\‘l|lmm‘,‘ MM e IR =S f
What is Transmission Angular Accuracy? =8 AN LI ””'”l”“”m l””l”””ll'l”"" 2g I
It is the difference between the measured output %‘i% o3 #
rotation angle and the theoretical angle, while % -05 - §§ #
input shaft is rotated with no load. = e i%
19, 90 180 270 360 %% =
Hi N BAEI A8 FE () 25 o
Output shaft rotation angle (deg) §§ =
as =
[arc min] %
o 4 X 25 2
i Size ]
Fatlo ™35 T 42 | 50 | 63 | 80 55 2
50 15 | 15 | 1.0 | 1.0 | 10 & =
80 | 15 | 15 | 1.0 | 1.0 | 1.0 Eii—
100 | 15 | 15 | 10 | 10 | 1.0 S B
120 | - 15 | 10 | 1.0 | 1.0 7
160 - - 1.0 | 10 | 1.0 -
HROMEISEETT, - .
Table values are reference values. 25 é
N 3
EXFJvZ20OR g
Hysteresis Loss - = |
3 =
— s hlhf ERAN
tZTIJyZEIZt(i Twisting angle g )I[,
AN EEELTHARIC ML EN T BE A g 7
oEOrLIEORENAEDZE EXTULZOR 5 |
. . Hysteresis Loss 5 A
What is Hysteresis Loss? £ 5
When torque load is applied at the output shaft § B
in alternate direction repeatedly with input shaft 1 > KLY 2 i
fixed, there is residual twisting angle when Torque = =
torque is back to zero. / - f |
In this context, hysteresis loss is the difference g% 3 £
in the forward and backward twisting angle. §g§ ;
[arc min] %qi ]
. YA X = B
BOR L, Size §§ ?
Rato ™35 | 42 | 50 | 63 | 80 58 2
50 20 | 20 | 20 | 20 | 20 s
80 1.0 1.0 1.0 1.0 1.0
100 1.0 1.0 1.0 1.0 1.0 §§,:’
120 : 10 | 1.0 | 1.0 | 1.0 !
160 - - 1.0 | 1.0 | 1.0 2

FLEXWAVE WP>U—-X 52



High torque type B2 [gr/75+7B2]

BrMET—4 Characteristics Data

159 NAVA A A

Maximum Backlash [arc sec]
s - s = Y4 X
BRIy EEIE B L Size
N N o N Rati
ANEHAINEY L5 4 T DH/ADHEAEIDH % TS 42 50 63 80
(DO HEWED/NNYIZy U 0 DIz UV Y R4 T TlE 50 35 29 25 20 16
NIy 0 ERUET) 80 20 18 16 12 10
What is Maximum Backlash? 100 18 15 13 10 3
In this context, maximum backlash is the output backlash 120 10 10 8 6
for oldham type input shaft. (Backlash is zero for rigid type -
input, because gear engagement backlash is zero.) 160 - - 8 6 5
Bl (v0—XB 2=y b947) K1 R LS AR 0 ~ T, dIZHES
) ) Spring coefficient at 0 ~ T, torque
Stiffness (Closed type, Unit) K2 MLOAT, ~ T, DIF e
Spring coefficient at Ty ~ T, torque
B & (& K3 MLOD T, ~ DIFEH
. Spring coefficient at T, ~ torque
ABDEEBEELTHEDEIC ML EDFRHBEDIE
EHLRLNA N =
What is Stiffness? K, |
In this context, stiffness is the output shaft twisting o E
angle and the spring coefficient, while torque load is & 2 X i
applied to the output shaft with input side fixed. s % ! E
f3F Ki i i
: | |
0 : H
T oammy
Load torque
Ty - v e T4 X
BOE iLE L Liva Size
Ratio item unit 35 49 50 63 80
- T, Nm 2 3.9 7 14 29
- Tz Nm 6.9 12 25 48 108
K4 x 10°Nm/rad 0.41 0.87 1.3 2.5 55
K, x 10°Nm/rad 0.57 1.1 1.8 3.4 7.9
50 Ks x 10*Nm/rad 0.70 1.4 2.4 45 10
on arcmin 1.7 15 1.9 1.9 1.8
6, arcmin 4.6 4.1 5.3 54 53
K, x 10*°Nm/rad 0.51 0.90 1.3 2.8 5.8
80 K, x 10‘Nmyrad 0.67 13 2.1 45 9.6
100
120 Ks x 10°Nm/rad 0.78 15 25 5.2 10.5
160 6, arcmin 1.3 1.5 1.9 1.7 1.7
6, arcmin 3.9 3.6 4.8 4.3 4.5
MROEFFHETT,

Average value shown in the table



EEEIMILY

(VO—RE 2Zyb5(47)
Starting Torque

(Closed type, Unit)

[cNm]

— 517
Ratio ™35 42 50 63 80

50 2.1 3.9 7.7 17 22

EErLIEIE
ABDBIDSRESEDHEIC ADAIDEERE
RHDILY

(E&w. AEERE:25°C)

What is Starting Torque?

Input torque needed for input side to start
rotating (no load, ambient temperature : 25°C)

ERECEI N ILD
(VO—XB 1Zyh547)
QOutput Starting Torque
(Closed type, Unit)

EEEH LI LI
HARNOSEERS D5 E (S HAORID EERZ
RHDRILY

(E&fr, ABEERE 25°C)

What is Output Starting Torque?

OQutput torque needed for output side to start
rotating (no load, ambient temperature : 25°C)

80 2.0 3.4 6.6 14 21

100 1.9 3.0 6.2 12 20

120 - 2.7 5.8 11 17

160 - - 5.3 10 16

A EARFICLVENRSY EFTNT, BEETT,
M2 AFBA AN —ILPR—IANT ) v TEDOREERK
CLBHEBEFEINTVLEEA,
*1 For reference only. Torque value may vary depending
on the condition.
*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

[Nm]
L e
Ratio ™35 T 22 | 50 | 63 | 80
50 | 15 | 22 | 33 | 84 | 16
80 | 16 | 27 | 35 | 10 | 2f
100 8 | 32 | 42 | 12 | o4
120 - 34 | 56 | 14 | 27
160 - - 66 | 20 | 38

M¥AFEAREICLVENERYFTDT, BEETT,
W2 ABAIA ALY —ILPR—ILART ) v T & D RIERIK
CLBEEIEIFNTVWETA,

*1 For reference only. Torque value may vary depending
on the condition.

*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

FLEXWAVE WP>1—X

=k
917B2

High torque
type B2

SuooNJIsul

suoleoly1oedg
/ 19PO J8onpay

(Buiresq onse(3)

(Bureaq urely)
uopewnss aj

1yeys Induy
18 PEO| WNWIXB|\

Juswalinbal

Alquiesse
pue uone|[elsu| | ainjonis uopoas indul | enbio] Bumiwsuel] | 81nNiX|j JUSWYOBNY | UOHEBWIOU| JUBDLgN|

ainpaooid

uoIye|[eIsul I0JO}
Yy

eleq

sansuaoeIRy)

SF
| SHEE b

S

uonewnse 8y | e|gel suolsuswiq

ROB> | (MaZthr) MHZLED A | (dimes) WL ShA

A
NS

(e

o~

[
= TR Hy

Ik 2 >

i T P

54



55

L

High torque type B2 [gr/75+7B2]

BrMET—4 Characteristics Data

WA \‘ [cNm]
SYZVTRLY B | s “ste

(HO0—ZF A= ro4(F) Hatio 35 | 42 | 50 | 63 | 80
No-load Running Torque 500r/min 3.8 6.4 10 18 38
(Closed type, Unit) 5 1000r/min | 4.9 7.7 12 22 54
_ ) 2000r/min | 59 | 82 | 14 04 57
MAWIVZVTIMLILIR 3500r/min | 6.3 | 87 | 15 26 | 63
BEEFMCEBEITINICHLER 500r/min | 3.0 | 58 | 84 | 21 34
AR D ILY 1000r/min | 3.7 | 7.4 10 24 41
(FHE. AEER:257C) 80 000rmin | 46 | 80 | 12 25 47
What is No-load Running Torque? 3500r/min 5.1 8.8 12 26 53
Input torque needed to keep it 500r/min | 2.8 | 55 | 7.3 16 35
N O 7y T MY W
2000r/min | 43 | 7.9 | 12 22 54
3500r/min | 4.6 | 8.8 13 23 57
500r/min - 50 | 59 | 14 34
1po | 10000/min | - 57 | 8.1 18 41
2000r/min | - 65 | 97 | 20 43
3500r/min | - 7.0 11 21 45
500r/min - - 72 | 15 25
r60 | 10000/min | - - 89 | 19 30
2000r/min | - - 11 22 37
3500r/min | - - 11 22 40

A ERFEICLVENRZY ETNT, BEETY.

W2 APAA ALY —IILPR—IART ) v TEDREERIC L 2HEES

FNTWFEEA.

*1 For reference only. Torque value may vary depending on the condition.
*2 Charts does not show effects due to rotation resistance of bearings

and oil seals on the input side.



THE (UO—B 2=y 547)
Efficiency (Closed type, Unit)

B (%]
BABERE : 25°C

1T S7EFEMNT—HIDFHETT,
M2 AFEIA ALY —IILPR—=ILR T v T E D EER
EHICEDZHEFESINTOEEA,

C BfRbLY

AAREM LY

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the
actual measurement.
*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

WPU-35-50 WPU-35-80
100 100
e 500 r/min e 500 r/min
90 | = 1000 r/min 90 [ e 1000 r/min
s 2000 r/min s 2000 r/min
> 80 [ === 3500 r/min > 80 || e 3500 r/min
> /’
é " //-_' é 70 1
0 60 //// )
= 50 = 50
6o S 8.0
E ®
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&1 [%] Percentile Load &% [%)] Percentile Load
WPU-35-100
100
@ 500 r/min
90 [ e 1000 r/min
s 2000 r/min
. 80 [ e 3500 r/min
[©]
3 70 —
O 0
L 60
= 50
B 40
E
30
20
10
0 20 40 60 80 100
B (%] Percentile Load

FLEXWAVE WP>1—X

=k
917B2

High torque
type B2

suononsul

suoleoly1oedg
/ 19PO J8onpay

(Buiresq onse(3)

(Bureaq urely)
uopewnss aj

1yeys Induy
18 PEO| WNWIXB|\

Juswalinbal
8INIX1} JUBWYOBNY | UOHEBWIOU| JUBDLgN|

Alquiesse
pue uone|[elsu| | ainjonis uonoas induj | enbio] Bumiwsue.|

ainpaooid

uoIye|[eIsul I0JO}

eleq

sansuaoeIRy)

SF
| SHEE b

S

o|gR| SuolsuswiI(

UOIBWINSS )17

(M) SRR B | (dEme) L b ol

PEOEY >

R

o~

[
= B

N ST

Ik 2 >

8 R

56



57

L

High torque type B2 [gr/75+7B2]

BMES—4 Characteristics Data

T (VO—B A=y 547)
Efficiency (Closed type, Unit)

B (%] C BEMLY | FERERNLD -Percentile Load (%) is equal to load torque divided by
. . o allowable average torque.
FRERE : 25°C -Ambient temperature : 25°C

. .= |l = *1 These diagrams represent the average value of the
% |5 — 7t (E ¢ R
1 TST7EENT—IDFHETT actual measurement.

H2 ADRAANY =R —IAT Y T EDEER *2 Charts does not show effects due to rotation

EBHICLDHEFEINTVIEEA, resistance of bearings and oil seals on the input side.
WPU-42-50 WPU-42-80
100 100
e 500 r/min 500 r/min
90 | e== 1000 r/min 90 | == 1000 r/min
s 2000 r/min @sms 2000 r/min
. 80 | === 3500 r/min . . 80 [ === 3500 r/min
2 2
o 70 % & 70
o ©
£ 50 £ 50
M 40 /// B
R ®

/ 40
30 // a0 //

[ 4

20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&7 [%] Percentile Load & [%] Percentile Load
WPU-42-100 WPU-42-120
100 100
e 500 r/min 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
s 2000 r/min s 2000 r/min
. 80 [ === 3500 r/min ; -, 80 [ === 3500 r/min
e ' 2
o 70 @ 70
RS o
L 60 o 60
= 50 = 50
B 40 v B 40
= 7/ & 7/
30 / 30 /
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
B (%] Percentile Load &% [%)] Percentile Load



§b$ (HO0—XBl . A=w R 94F)

Efficiency (Closed type,

Unit)

a7 (%] - BRErLy
BAEEE : 25°C

AAREM LY

1 TSTERBT—IDFHIETT,

M2 AFEIA ALY —IILPR =R T v EpEER

BEHICLDHBEIEINTOLEEA

WPU-50-50
100
@ 500 r/min
90 || cmmm 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
2 %
@ 70
2 =
o 60 /
T o /
M 40 /
S //
30 4
20
10
0 20 40 60 80 100
&% [%] Percentile Load
WPU-50-100
100
e 500 r/min
90 [ e 1000 /min
e 2000 r/min
. 80 [ === 3500 r/min
g ——
o 70
= 50 /
¥ 40 /
R ,/
30 +
20
10
0 20 40 60 80 100
&% [%] Percentile Load
WPU-50-160
100
e 500 r/min
90 || e 1000 r/min
e 2000 r/min
N 80 [ s 3500 r/min
2
o 70
Qo
o 60
)
ey 4
a4
30 4
20
10
0 20 40 60 80 100

&% [%] Percentile Load

-Percentile Load (%) is equal
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent

actual measurement.
*2 Charts does not show
resistance of bearings and

to load torque divided by

the average value of the

effects due to rotation
oil seals on the input side.

100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 [ === 3500 r/min
8 1
O
Sy
W 40 /
30 #
20
10
0 20 40 60 80 100
&7 [%] Percentile Load
WPU-50-120
100
@ 500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 [ e 3500 r/min
2
© 70
Qo
o 60
= 50
# 40
R ,/
30 4
20
10
0 20 40 60 80 100
&7 [%] Percentile Load

FLEXWAVE WP>1—X

=k
917B2

High torque
type B2

SF
| SHEE b

suoleoly1oedg
/ 19PO J8onpay

S

8|ge| suolsuawi(

uolewnse a1

(M) SRR B | (dEme) L b ol

(Buiresq onse(3)

(Bureaq urely)
uopewnss aj

SZ A
28 7
%3 Ha
85 D
> %

s =

o AT

- ¥

g B

2 Fl

=)

=)

3

o

o

=}
3z H
oz
S6 f
D2 uE
33 78
$> E

>:<'?

g

3

S

: E

2

5 7

3

C

[0}

3 A

s A

g B

. B

c =

(=3

=

()
cfz =
258 $
$<S 1§
(2} -

[

=}

o

ainpaooid

uoIye|[eIsul I0JO}
Yy

eleq

sansuaoeIRy)

58



59

High torque type B2 [gr/75+7B2]

BMES—4 Characteristics Data

T (VO—B A=y 547)
Efficiency (Closed type, Unit)

B (%] C BEMLY | FERERNLD -Percentile Load (%) is equal to load torque divided by
. . o allowable average torque.
FRERE : 25°C -Ambient temperature : 25°C

. - NN *1 These diagrams represent the average value of the
% |5 — 25 (E T o
1 USTEEMT—YDFHETT actual measurement.

H2 ADRAANY =R —IAT Y T EDERR *2 Charts does not show effects due to rotation

- = S . . . . .
EBHICLDHEFEINTVIEEA, resistance of bearings and oil seals on the input side.
WPU-63-50 WPU-63-80
100 100
e 500 r/min @ 500 r/min
90 | e 1000 r/min 90 [ e 1000 r/min
e 2000 r/min e 2000 r/min
. 80 [ === 3500 r/min : - 80 [ === 3500 r/min
2 2
o 70 % & 70 %
Q 1S
= 50 = 50
M4 M4
= 0 R 0
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&% [%] Percentile Load &7 [%] Percentile Load
WPU-63-100 WPU-63-120
100 100
500 r/min e 500 r/min
90 || e 1000 r/min 90 7| == 1000 r/min
e 2000 r/min e 2000 r/min
- 80 [ === 3500 r/min . 80 [ == 3500 r/min
2 2
o ©
£ 50 g 50
M4 ¥4
- =
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&7 [%] Percentile Load &7 [%] Percentile Load
WPU-63-160
100
500 r/min
90 || e 1000 r/min
s 2000 r/min
. 80 [ e 3500 r/min
8 »
@ 70
©
2 7
= 50
B
B 40
30
20
10

0 20 40 60 80 100
& [%] Percentile Load



THE (UO—B 2=y 547)
Efficiency (Closed type, Unit)

B (%]
BABERE : 25°C

C BfRbLY

1 TSTERBT—IDFHIETT,

M2 AFEIA ALY —IILPR =R T v EpEER

AAREM LY

EHICLZREIEENTOEE A,
WPU-80-50
100
e 500 r/min
90 || cmmm 1000 r/min
e 2000 r/min
_. 80 [ === 3500 r/min
o
3 70
o
0 60
= 50
# 40
®
30
20
10 0 20 40 60 80 100
&% [%] Percentile Load
WPU-80-100
100
e 500 r/min
90 || e 1000 r/min
e 2000 r/min
2 80 [ s 3500 r/min
3 70
Qo
o 60
¥ 50
# 40
R
30
20
0 0 20 40 60 80 100
&% [%] Percentile Load
WPU-80-160
100
@ 500 r/min
90 | === 1000 r/min
e 2000 r/min
> 80 || e 3500 r/min
& 70
o 60
= 50
# 40
R
30
20
10
0 20 40 60 80 100

&% [%] Percentile Load

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the
actual measurement.

*2 Charts does

not show effects due to rotation

resistance of bearings and oil seals on the input side.

WPU-80-80
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
. 80 [ e==== 3500 r/min
2
O
o 60
S 50
# 40
R
30
20
10
0 20 40 60 80 100
&7 [%] Percentile Load
WPU-80-120
100
e 500 r/min
90 [ e 1000 r/min
e 2000 r/min
> 80 [ e 3500 r/min
2
5 %
Q
o 60
=X 50
M
R 40
30
20
10
0 20 40 60 80 100

&7 [%] Percentile Load

FLEXWAVE WP>1—X

suononsul

(=162

917B2
High torque
type B2
22 i
S5 BE
o @
22 &
s =
ag E\‘c
o~ |

3 N
e &
2 X

=}

w
o
=5
(0]
~ T [
hy 2
n O Epn
52 B3
>3 =
ol ]
25 #
g @

=
N

g &
3 .
g% =t
23 ®
>S5 -
@8 =
- B

=

52 A |
28 7
o2 B
23 ¢

8

- i

S 7R

2 Fl

=)

g

3

&7,

o

=}
3z H
2=
£8 ff
® 2 uE
33 718
(-D(‘D
32 E

>:<':

z

3

1 &

g ®
g

5 7
S

C

[0}

£ =

: B

g &

(=3

=

()
E
T =H
<3 5

[

=}

o
g5 T
g2g |
€2 4
“E H

5

f %
=¥}

o I
5

i)

(2]

)

3

&

7]

60



61

Flat type D

EREL5S Fitks N

Reducer Model Nomenclature

WP

U —| 35 |—| 50 |—| CD

-4

Series name
WPY—X

WP Series

@FE R Availability

Ratio matrix

947 Y4 X R EE J—R*
type Size Ratio Code
[ oim b2 1= S X ) 35 50 CD
Component type
S : BBy .a 80 CDH
Simple unit type 50
Ty AT 100 SD
Ui 2200807 ey 63
Unit type
Hollow unit 80 120 SDH

MO— PRI TERE CHERIZE WL,
For the code details, please check
the Dimensions Table.

PR g

80 100 | 120

35

42

Frame size

50

63

80

YERLY s T3

Reducer Specifications
¥ 2 ¥ 3

x4 x5 ¥ 6 X7
‘ FATERE HFERK E A SIS UN FATH RS = ARER
. | BOEEL FLY bLYs by AN EEES AN EEEH
-'j-./f A | ‘Ratio | Nominal output | Maximum output | Emergency stop Nominal Maximum input Lif
Size R*! torque torque torque input speed speed e
[Nm] [Nm] [Nm] [r/min] [r/min] [hours]
50 3.7 12 24
85 80 5.4 16 29 3000 8500
100 5.4 19 31
50 11 23 48
80 15 29 52
42 100 16 37 55 3000 7300
120 16 37 55
50 17 39 69
80 24 51 75
50 100 28 57 76 8000 6500 7000
120 28 57 76
50 27 69 127
80 44 96 147
63 100 47 110 152 3000 5600
120 47 110 152
50 53 151 268
80 82 212 334
80 100 96 233 359 3000 4800
120 96 233 359
M1REZ p 4 ORICANTERLZRO T ZE WL *1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table.
3% 2 ANEEER 2000r/min DEFICHRT 2R AE *2 The maximum allowable value at the input rotation speed of 2000r/min
¥ 3 HCE) - (BIRFICHA T DRAE *3 The maximum torque when starting and stopping.
W4 ERENERLIEICHERT 2RKNE *4 The maximum torque when it receives shock.
¥ 5 EEHCHRT 2FHANEEHORKIE *5 The maximum average input speed.
3 6 BEHICHE T 2 ANEEHOFAE *6 The maximum input speed.

¥ 7 ASEEREL 2000r/min, SRR ML BREOFEGIER 7 The life time at the input rotation speed of 2000 r/min and nominal output torque.



R
947D

Flat type D

~FyE3R Dimensions Table 23 1t
BE i
g8
== &
> ~ o, N o g% :_Et
oO0—X8 OVRRVNYAT . £ |[BHEE-—XUF 2 <
Cl dT C " "j'S’f7\ Weight Moment of inertia
osed Type, Componen ize ” X 10kgn?
35 0.062 0.0226
WPC-[1-11-CD 42 0.10 0.0565 2 3
50 0.16 0.113 § =
63 0.26 0.342 3
80 0.57 1.18 &
LE
LG
LF %’j%#?ﬁ
LH LJ 280 &0 fn
ws € 852 =
—e ?j = 5
[B E =
2 : A SR F
o H L« 5220
g 2 A
5 ]
=
8% -
X L
SE W
s i
33 %
52 K
S |
[mm] : ¥
N E)
ﬁgéé‘ LA | LB LE LF | LG | LH LJ LK N | LT 57
35 44 50 11 6.5 45 1.4 - 0.3 6 3.5 . M3 ’
42 54 60 125 | 75 5 1.7 - 0.3 8 35 . M3
50 62 70 14 8 6 p) 3.3 0.3 12 35 6.5 M3 53 0 |
63 75 85 17 10 7 2 3.3 0.4 12 3.5 6.5 M3 2% =
33 1|
80 100 | 110 22 13 9 25 4.4 0.5 12 45 8 M4 ]
tggg: SA | sB | sc | s | sE SE | ox | ¢y | cz M ST | su
35 17 11 23.5 11 17 4 6.5 1 38 8 35 M3 g i@
42 19.5 11 27 15 21 5 75 1 45 8 45 M3 % jf
50 24 16 32 20 26 5.2 8 15 53 8 45 M3 5 %
)
63 30 20 40 24 30 6.3 10 15 66 8 55 M3 2
80 41 30 52 32 40 8.6 13 2 86 10 6.5 M4
% CX. CY. CZ (3T —AMNEEHER~TETT, *Inner dimensions of CX, CY, CZ are recommended dimensions. o

FLEXWAVE WP>1—X 62



63

Flat type D

~FyEZFR Dimensions Table

S

HO0—ZB 2=y AT . B [EMET-—XUF
Cl qT Uni ﬂ—S/fZ Weight Moment of inertia
osed Type, Unit ize e 10
35 033 0.0227
WPU- [1=] -CD 42 0.43 0.0565
50 061 0113
63 11 0.343
80 02 118
LE
LF LH
LG - cy
QS\'X
0
— — uh'_lﬁgk —
ZlglE] < SN
5l5a ws glal¥|sla
d|Wei
LJ LM
LK
[mm]
b;ﬁz e7‘ A | B | 1lc|w || LW |wK!|wWH|w | K|w]|N LU
35 49 | 55 | 31 | 425 | 25 | 23 | 05 | 2 5 | 147 17 | 6 | 35
42 56 | 62 | 38 | 495 | 265 | 245 | 05 | 2 5 | 162 | 17 | 10 | 35
50 64 | 70 | 45 | 58 | 207 | 277 | 05 | 2 5 187 17 | 12 | 35
63 79 | 85 | 58 | 73 | 371|341 | 05 | 3 | 55 | 236 | 26 | 18 | 35
80 | 104 | 112 | 78 | 96 | 43 | 40 1 3 | 55 [ 305 25 | 18 | 45
*’éfzex SA | SB | sc | sD | SE | SF | ¢y | cz | ™ ST sU
35 o5 | 12 | 11 11 17 4 1 38 | 10 M3 x 6 M3
42 27 | 14 | 11 15 | 2 5 1 45 8 M5 x 8 M3
50 34 | 18 | 16 | 20 | 26 | 52 | 15 | 53 8 M6 x 9 M3
63 42 | 24 | 20 | 24 | 30 | 63 | 15 | 66 8 M8 x 12 M3
80 57 | 32 | 30 | 32 | 40 | 86 | 2 86 | 10 M8 x 12 M4

# CY, CZ 134 — AREEHEETE T,

*Inner dimensions of CY, CZ are recommended dimensions.



HO0—ZB 2=y AT . B |[EET-XUF
Cl dT Unit "j'S’f7\ Weight Moment of inertia
osed Type, Uni ize = Ry~
35 0.46 0.0228
WPU- [1=] -CDH 42 0.63 0.0571
50 0.91 0113
63 16 0.344
80 30 1.18
LE
LG LF
0-ring L O-ring
=
! p—
SipE
HEEE: ws g|S|3ls
; Lf S
LJ LN
LK
LM
[mm]
*géé( IA | B|LC || LE|LF ||| Wl WK|w!|lWN| N | LW
35 64 | 70 | 49 | 48 | 22 | 215 05 | 25 | 39 | 49 | 129 | 28 35
42 74 | 80 | 59 | 56 | 227 | 222 | 05 | 25 | 14 | 37 | 134 | 28 | 8 | 35
50 84 | 90 | 69 | 64 | 268 | 245 | 23 | 25 | 43 | 48 | 163 | 28 | 8 | 35
63 | 102 | 110 | 84 | 80 | 315 | 204 | 21 35 | 55 | 185 34 | 10 | 45
80 | 132 | 142 | 110 | 106 | 37 | 342 | 28 | 3 | 25| 6 |205| 35| 10 | 55
'%é;i SA | SB | SC | SD | SE | SF | cz | M ST su
35 42 130 | 11| 11| 17| 4 | 38 | 8 M3x5 | M3
42 50 | 34 | 11| 15 | 21| 5 | 45 | 10 M3x6 | M3
50 60 | 40 | 16 | 20 | 26 | 52 | 53 | 8 Max7 | M3
63 73 | 52 | 20 | 24 | 30 | 63 | 66 | s M5 x8 | M3
80 % | 70 | 30 | 32 | 40 | 86 | 86 | 8 M6 x 10 | M4

# CZ 3T — ARNEEHER~IETY .

*Inner dimensions of CZ are recommended dimensions.

FLEXWAVE WP>1—X

uolewoul yueolgn) |(Buliesq urely) uonewnse a7

R
947D

Flat type D

s
o1

| SR

suoneolyioadsg
/ |8pOJA Jeonpay
e

a|qeL suoisuawig

/ (Buleaq onse|3)
uolewss o)

(MarH ) SIRE S i
JOeEmR) SEEI>A

/ Weys indul
18 PBO| WNWIXBIA
I i

OB >

N
7

/ KN

e

Juswalinbal
i

2INIX1} JUBWIYOBNY
a

it

N ST

anbuo| Bumiwsuel

pue Uone|eIsU|
ol o it

suononJIsuUl Ajlquasse

BlR( SOlIsleloRIBYD

64



65

~FyEZFR Dimensions Table

S

Flat type D

F—TVE I NIAT . B |BET-XUF
. . YA X Weight Moment of inertia
Open type, Simple unit Size kg <10 kg
35 0.31 0.0233
WPS- 1= -SD 42 0.43 0.0578
50 0.54 0.114
63 0.93 0.347
80 2.0 1.20
LE
LF LH
LG 0-ring
/
o
YUl =
E E = g N % E
aly ¥ s g|s 33
®
Cq
=i 3
K?'
QY% cy
[mm]
4;;|42 e7‘ LA | LB lc | LD LE LF | LG | LH LJ N LT
35 43 70 50 49 175 | 155 | 24 2 15.7 8 M3 x 4.5
42 52 80 61 59 185 | 165 3 2 16.9 12 M3 x 4.5
50 614 | 90 71 69 19 17 3 2 17.8 12 M3 x 4.5
63 76 110 88 84 22 20 3.3 2 216 12 M4 x 6
80 99 142 | 114 | 110 | 279 | 236 | 36 43 | 27.3 12 M5 x 8
%fzex sA | sB | sc | sF | cA | oy | cz | cv | cw | ™ sT | su
35 64 11 17 4 0.3 1 365 | 16 31 8 35 M3
42 74 15 21 5 0.3 1 435 2 37 12 3.5 M3
50 84 20 26 5.2 0.3 15 53 2 44 12 3.5 M3
63 102 24 30 6.3 0.3 15 66 2 56 12 45 M3
80 132 32 40 8.6 0.5 2 84 2 72 12 55 M4
# CV. CW. CY. CZ (x4 —ARNERHER~TETT, *Inner dimensions of CV, CW, CY, CZ are recommended dimensions.



A—T VB 2=y AT (FZeEh)

Open type, Unit (hollow shaft)

WPU- 1 -] -SDH

M-¢ST

—lj—STL e7: Weiit 1ﬁl%ne{nt of)i(ne/rtile;
kg x10kgm?
55 0.49 0.0839
42 0.66 0.180
50 0.84 0.352
63 1.4 0.940
80 2.8 3.47

LG

LF LH

LL LK LJ

INPUT SHAFT FOR 35&42
[mm]
A% A | LB | LC | D | LE|LF|LG|LH | L |[L|L]/|L/| L /LR
35 | 43 | 36 | 52 | 70 | 455 | 195 | 12 | 14 | 65 | 75 | 9 | 25 | 55 | 65
42 | 52 | 45 | 62 | 80 | 48 | 205 | 12 | 155 | 7 | 85 | 10 | 25 | 55 | 65
50 | 614 | 50 | 73 | 90 | 42 | 215| 5 | 155 | 7 | 85 | 105 | - ] ]
63 | 76 | 60 | 87 | 110 | 465 | 24 | 6 | 165 | 6 | 105 | 105 | - ] ]
80 | 99 | 75 | 114 | 142 | 55 | 286 | 7 | 194 | 75 | 119 | 12 | - ] ]
'%gg: SA | sB | sC | SD | SE| SFE | M | sT sU N LT
35 | 64 | - | 14 | 20 | 74 | 36 | 8 | 35 M3 8 IM3x45 ¢35x55
42 74 - 19 25 84 45 12 3.5 M3 12 M3 x 45, ¢ 35x%x65
50 | 84 | 255 | 21 | 30 | 95 | - | 12 | 35 | M3xse 12 |M3x 45, ¢35x65
63 | 102 | 335 | 29 | 38 | 115 | - | 12 | 45 | M3xs6 12 | Max6 ¢45x85
80 | 132 | 48 | 41 | 54 | 147 | - | 12 | 55 | M3x6 12 | M5x8 ¢55x76

FLEXWAVE WP>1—X

uolewIOjUl JUBDLIgN| |(Bulieeq Ulgpy) uoTewss )

R
947D

Flat type D

¢7 1
8 2 Bk
5o
2= #I
s§ =
w% I\
o
3 &
o R
=]
=]
[
Iy
g
]
EEE
%g BRI
SR
Iy EHE
2o~
55 x
ST
— ﬁi@
~— X
e

/ Weys indul
18 PBO| WNWIXBIA
I i

OB >

N
7

/ KN

e

Juswalinbal
i

2INIX1} JUBWIYOBNY
a

it

anbuo| Bumiwsuel
AN\

pue Uone|eIsU|
ol o it

suononJIsuUl Ajlquasse

BlR( SOlIsleloRIBYD

66



Flat type D [®&¥5+7D]

L

EoTE (SEMEERSE) Life estimation (Elastic bearing)

HEEZFamaTE

Life span for the elastic bearing

W Em Y-V

Operation cycle example

T, | |
&Er by | T, |
Working torque } T, ! T,
1 i)
| | Time
ny L N3
A EIER 21 &
Output rotation
spegd bt (%] Y ‘ =]
Time

OFHHA MILY - BEREA ML DOEH

Calculation formula for output torque

SEHEN LY

Average output torque Tao

Nm

. t1.|7‘1|3+ Nyt 72|3+...+ N, tn.|7n|3
ot

Tao :3\/ n,

n,-t,+n2°t2"°nn n

=AHSD LD

Peak output torque value Tmo

Tmo = 7—/, 7—2, e 7;7 O)EEij(ﬂE
Tmo = Largest among Ty, Ty, = T,

BAHA ML DHFRERENUTTCHE L2 CHIEETIL

Please make sure the peak output torque is below the maximum output torque in the specification table

QFHANEERL - ZEEHADEEHROE S
Calculation formula for mput speed
5 ElEREL - Mt +n,treen, -ty
A nao | r/min nao=
Average output rotation speed ti+t,t et t,
= A [EERE nmo | r/min nmo =ny, n, -+ n, DERXE
Peak output rotation speed nmo = Largest among ny, ny, *** n,
AN BIEREL - i - S — i
Average input speed nai | r/min  pai=npao x R (R=g&EL) (R=ratio)
B A EEREL i i - — — rati
Peak input speed value nmi | r/min  nmi=nmo x R (R=E&EL) (R =ratio)

REAN LGN TFRREANBELLUT THE L& THIET IV

Please make sure the peak input speed value is below the maximum input speed in the specification table

@?_"._:F H‘J'Fﬁﬁmn-l_%
Calculation formula for life span
B SR Jar \S | nar
Part life span for the elastic bearing Lie 2 Lhe = 7000 x Tao nai
TEM MILY Tar | Nm | TEREROFEER bLY
Rating torque Nominal output torque in the specification table
TERE AT EIRREL ; i
Rating input rotation speed har r/min | 2000 r/min

67



R
947D

Flat type D

FEaietE (EHF) Life estimation(Main bearing) 97 L
iz
7 8 =
> vg@a@ = @ —
ﬁj—t == /%rﬁn'l'%: Model selection / Life estimation -
B EEHSAR(VORO—785) Main bearing specification(Cross roller bearing)
o ~ |
JAO0OEYyFAE | A7ty bE | ERABERTE | EAHEREE | SFBAT— XV | E—XV A § =
A 44 z | Pitch circle diameter | Offset Basic dynamic |Basic static load| Allowable Moment g X
e . of the bearing rollers load rating rating moment rigidity ?
Series Size o
Dm L C Co Mal Km o3
m m N N Nm x 10" Nm/rad
&5 0.0335 0.0090 5620 6540 36.5 7.35
42 0.0410 0.0095 6340 8170 55.8 8.02
WPU-1-[0-CD | 50 |  0.0493 0.0105 10400 13300 91.0 135 505 2%
gog B0Z
63 0.0615 0.0128 15800 21100 156 27.7 gg% gg
80 0.0815 0.0130 24400 35600 313 66.0 §§§-;§§
g5 0.0505 0.0062 7110 10200 74.0 14.4 52 ¥ %
42 0.0598 0.0066 10900 15200 124 19.7 g =
WPU-[1-[1-CDH 50 0.0708 0.0077 17200 24700 187 40.1 é
63 0.0856 0.0092 25100 37400 258 71.5 gggﬁ%
80 0.114 0.0106 43300 67600 580 188 S22 Hl
&5 0.0512 0.0111 8010 11400 37.0 8.86 ;T:g E?L
3 N
42 0.0614 0.0112 7370 10900 62 20.8 =
WPS-[-[-SD | 50 0.0715 0.0114 8030 12800 93 22.5 %
63 0.0869 0.0128 14300 24500 129 33.3
80 0.113 0.0181 23700 42500 290 84.5 gg Hy
o 0.0512 0.0166 8010 11400 37.0 8.86 §(§ %
42 0.0614 0.0177 7370 10900 62 20.8 22 E
WPU-[J-[1-SDH 50 0.0715 0.0179 8030 12800 93 22.5 S
63 0.0869 0.0213 14300 24500 129 33.3
80 0.113 0.0257 23700 42500 290 84.5
B |
B N ERE A EREIN
External load @ )7"
g
WPU- [1--CD WPU- [1- 0-CDH WPS- - -SD WPU- [0- J-SDH ¢
L L L L
Lr L ‘—T [‘—’ . 83 i
A | . 58 =
A I =S
g [l || (i
il £ E £ v
] o (=) o L
© I
— Fa |
— O 4
4> - 3 II_E
&
g

FLEXWAVE WP>1—X 68



69

g

Flat type D

ADENDEERSTTE Maximum load at input shaft

BES AR (F—T VB 2=y A7) Bearing specification (Open type, Unit)

XF7Yvg A 7YV IB
Bearing A Bearing B
A gqz| BABERWE | EABERWE | EXABERWTE | EABESRTE a b
vl . A . Basic dynamic load | Basic static load Basic dynamic load Basic static load
Series Size rating rating rating rating
C Co C Co
N N N N mm | mm
85 4000 2470 4000 2470 16.0 | 20.0
42 4300 2950 4300 2950 16.0 | 22.5
WPU-[J-[J-SDH | 50 4500 3450 4500 3450 14.5 | 18.0
63 4900 4350 4900 4350 155 | 21.8
80 8800 8500 6400 6200 17.0 | 285
RFYVTA —
Bearing A R7Uv4B
1 Bearing B
sp (=]
N =

M AFARE (FHAHNEERE:2000r/min, F4skER 1 7000h0)

Maximum load (Average input rotation speed : 2000r/min, Life span

: 7000h)

WPU-[]-[1-SDH

=35

800

700

—1)

600

w50
—63

500

& Fr[N]

400

i

300

77 )Lq

AN

200

P

Radial load

100 4

100

200

300 400

7 ¥+ I)LfE Fa [N]

Axial load




R
947D

Flat type D

SEYBE lubricant information £3
e o
ag =

ERIY—R -

Grease

237y ZMP No.2 (E55EB8 KR L) Sumiplex MP No.2 (SUMICO LUBRICANT CO., LTD.) B

(FREESSHE:0~40°C (BAHEEE) Operating temperature range:0-40°C(ambient temperature) § g

S

7V —28%H

Grease application ©

EUFoBY. BaEEE RIS T —R 2B AL TTEW, Please apply grease according to the table below.

W J)—RBHE Grease application e B

b g . . e = 2 %o AR AD
 BAERTCIE. ERORU A TS (AR RS, ERE TR CLUBBREZEELTTSL, L0
(TU—RHAFHDLI=Y b4 T (3. C(HAE) DTY—ZBHTEINTOET,) 583 ji’tzj

SBSEHEA E I E FAEDHAFANASSY ~r—2HEECZEN50% DY -2 £ FELTFEL, BT

T —REFHIKV T —ADAR R THH A LI TERVWEHLELLZEL, (9] s -2

-The quantity of grease applied to C should BHEET Applied part 3

be adjusted depending on the mounting H4 X o) C C ;5'3 A
direction. Size = & &5 g3 g &

. . A B (#EmE) | (tAE) | (FAE) D 352 B A
C of the unit type product is already Horizontal | Vertical up | Vertical down SoE Hlm
fille_d with the same quantity of grease as 35 0.2 0.2 3 4 5 02 i%i— Z)F
horizontal mounting. g 3 ;§

-For vertical up/down, 50% of the space 42 0.3 03 S 6 ’ 03 § =

between input assy and casing inner wall 50 0.4 0.4 8 9 11 0.4 S =
should be filled with grease. o 63 08 0.8 16 19 21 08 =

-If the amount of grease is not sufficient

due to case design, please contact us. 80 1.5 1.5 36 42 48 1.5 3z Iy
: . s ff
B J)—RBHER Grease application location 23 FE
s=2 Ix
| WPC-0-0-CD | | WPU-0-0-CD | 3
P SR ZEDS0%EFE ’
Casing ZERID50%% FEiE )
Fill 50% of the gap in volume Pre-applied
D ——r— HA%H o -
; R 5 o
& =] loI8 i - Vertical g 2
‘ ‘ ‘ down 2 )}1\/
1 AJVASSY [ AF1 ASSY AN ‘; 7
input section assembly [input section assembly + %
rAE
- Vertical
AEV Up _ A [
i 15
Horizontal =2\ \ZED50%% 758 é% gé
—.D I/\
| WPU-J-C1-CDH | | WPS-0J-J-SD | 23
TR EEDS0%ETHE b—2  EED50%ETE 5
HAEH i, ‘
‘ N
s/ Al oo
ARVASSY [ 5 4 assy § T
g %
il I T —T o
[y I :

—2Z \ZEBD50%% FEiE o

FLEXWAVE WP>1—X 70




Flat type D
ENTREE  Attachment fixture requirement

B BB Attachment fixture requirement

| WPC-[J-0-CD | | WPU-CJ-0-CD |
IR 1=
.
%g — e Ve >N
. THAL s
§ 7-} éo— ¥ I b
o - J PR AN 1 =
3 b Shaft —| |— v éﬁf
- § igal 28 |
£ —
sl § —
ERD - %’,3
x| !
EfHEE [mm] B E [mm]
-bL./f A 5 42 50 63 80 -'j-./{ A €8 42 50 63 80
Size Size
a 0.015 0.015 0.018 0.018 0.023 a 0.020 0.020 0.020 0.025 0.025
b 0.010 0.012 0.014 0.016 0.020 b 0.012 0.012 0.014 0.016 0.016
© 0.013 | 0.013 | 0.015 | 0.018 0.020 © 0.016 | 0.020 | 0.024 | 0.024 | 0.024
d 0.015 | 0.015 0.018 | 0.018 0.023
e 0.015 0.015 0.018 0.018 0.023
f 0.012 0.012 0.014 0.016 0.016
g 0.016 0.020 0.024 0.024 0.024
WPU-[]-(]-CDH | [ wPS-O0-00-SD |
IR
:
Y x T
=2 o | "
- (A Ty b —2
% I I % '@! 7 e
EREENE s e

HRAZHE
HRAZHT
e 38

v b
of— R < J v
H 4
% : 4 &
w
Y |

% 7/ %

EHEE [mm] EHEE [mm]
PAZ | 35 42 50 63 80 YAZX1 35 42 50 63 80
Size Size
a | 0020 | 0.020 | 0.020 | 0.025 | 0.025 a | 0020 | 0020 | 0.020 | 0.025 | 0.025

b 0.012 | 0.012 | 0.014 | 0.016 | 0.016 0.020 | 0.020 | 0.020 | 0.025 | 0.025

© 0.016 | 0.020 | 0.024 | 0.024 | 0.024 0.020 | 0.020 | 0.020 | 0.025 | 0.025

0.012 | 0.012 | 0.014 | 0.016 | 0.016

D Q0 |T

0.016 | 0.020 | 0.024 | 0.024 | 0.024

71



R
947D

Flat type D

{=ZENILY  Transmitting Torque

22
== v
g8 ik
Sz Al
. . zg R
HRILRERE AL RORE PO TFROBUTY, C
Bolting Please refer to the table below for the bolt tightening torque.
AL MBI LY — 3T
Tightening torque for bolts 2 %
FILFFA X [Bolt size M3 | M4 | M5 | M6 | M8 | M10 5
#B4+ hJLo [Nm] [Tightening torque| 1.9 4.3 8.7 15 36 71 &
HELERLL - REXS 129 Bl E
Recommended bolt : Strength rating above 12.9
EEPMILY (U0—ZB 2=y 547) Ca5 ﬁﬁf
Bolt specifications and Transmitting torque (Closed type, Unit) %é% ;;;r
Hh7 o v VB (WPU-O-0O-CD) Output flange attachment §§ f T @
FAR Size 35 42 50 63 80 £= B4
AL YA X Bolt size M3 M5 M6 M8 M8 s T Z
RIL P A Bolt count 10 8 8 8 10 3
Huf$ PCD _ [mm] |Bolt PCD 25 27 34 42 57 EEND
¥+ ~JL4o [Nm]|Tightening torque 1.9 8.7 15 36 36 geg E%
{&Z h LS [Nm] [Transmitting torque 58 141 252 566 960 %fgé 'J?}%
378 =
A vy FILFYES (WPU-O-O-CD) Internal gear attachment 5 = ;ﬁ
g i
T4 X Size 85 42 50 63 80 =
AL b YA X |Boltsize M3 M3 M3 M3 M4 -
RIL b AR Bolt count 6 10 12 18 18 -
Bft PCD [mm] |Bolt PCD 49 56 64 79 104 gg %
i+ FJLH [Nm]|Tightening torque 1.9 1.9 1.9 1.9 4.3 g3 i
=& LY [Nm] |Transmitting torque 68 130 178 330 757 23 : 3
Hh7o v I (WPU-O-C-CDH) Output flange attachment s
T4 X Size 5 42 50 63 80
AL YA X Bolt size M3 M3 M4 M5 M6
AL AR Bolt count 8 10 8 8 8 g',' =
BRff PCD [mm] |Bolt PCD 42 50 60 73 96 E ®
#4+ ~JLo [Nm] |Tightening torque 1.9 1.9 4.3 8.7 15 g
fm&Z LS [Nm] [Transmitting torque 78 116 194 382 713 ‘§| 7
3
A V5 FILFVYERAS (WPU-C-CJ-CDH) Internal gear attachment
PP Size g5 42 50 63 80
RILbHYA X |Boltsize M3 M3 M3 M4 M5 B2
RV b AR Bolt count 6 8 8 10 10 %;:) g
Bff PCD_[mm] [Bolt PCD 64 74 84 102 132 =S &
B4 bJLS [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7 %%
=& hJL [Nm] [Transmitting torque 89 137 156 412 864 2

A2 R ILFXYEM
{Intema\ gear attachment

Q %

4V BF ¥V E s &

Internal gear attachment g 7|—

BH 75 OmAt 5 %
Output flange attachment 3 / >
BN 7 5t 5

Output flange attachment

FLEXWAVE WP>1—X 72



Flat type D
{=ZENILY  Transmitting Torque

(EENLY (YO—ZB aVvERY R 4F)

Bolt specifications and Transmitting torque (Closed type, Component)

7Ly AFVEUT  Flex gear attachment

P4 X Size 35 42 50 63 80
RIL A X Bolt size M3 M4 M4 M5 M6
NIV M AEK Bolt count 8 8 8 8 10
Bt PCD [mm] |Bolt PCD 17 19.5 24 30 41
¥+~ JL4 [Nm]|Tightening torque 1.9 4.3 4.3 8.7 15
{mZ FJLS  [Nm] |Transmitting torque 32 63 78 157 380
AV FILEVEST  Internal gear attachment

PR Size 35 42 50 63 80
AL bHA X Bolt size M3 M3 M3 M3 M4
RIL b ASK Bolt count 6 8 12 12 12
Bt PCD [mml] |Bolt PCD 44 54 62 75 100
#Ef+ ~JL4o [Nm]|Tightening torque 1.9 1.9 1.9 1.9 4.3
{=Z rJLY [Nm] |[Transmitting torque 61 100 172 209 485

{22 FIL 2V Eft \
Internal gear attachment *i

I N
Ve i

[ [

!
!

JL w4 R X vEf | —

Flex gear attachment

I

(EZEPNILD F—TF 8

Bolt specifications and Transmitting torque (Open type)

T Ly AFYEUT  Flex gear attachment

PP Size 5 42 50 63 80

AL HAX Bolt size M3 M3 M3 M4 M5

ARIL bAEL Bolt count 8 12 12 12 12

Bt PCD [mm] |Bolt PCD 64 74 84 102 132
4 bJLS [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7

& L4 [Nm] [Transmitting torque 119 206 234 495 1037
AVEFILFVEUT  Internal gear attachment

T4 X Size 5 42 50 63 80

RILEHA X Bolt size M3 M3 M3 M4 M5

RIL S AREL Bolt count 8 12 12 12 12

Bt PCD [mm] |Bolt PCD 43 52 61.4 76 99

#E4+ F Lo [Nm]|Tightening torque 1.9 1.9 1.9 4.3 8.7

{=2E bJLY [Nm] |Transmitting torque 80 145 171 369 778

JL v 4 2 EvEf

. . Flex gear attachment N
2Ly v RAEYENM ] 4L B

Flex gear attachment [ f 42 2L FVEM qp
° _g Internal gear attachment o Internal gear attachment
[

AN

—d

73



R
947D

Flat type D

S = . . : .
SERERIR Installation and assembly instructions g3t
28 T
AF7 - B 8h D3 HF (wee-0-0-c0) -
Shaft installation instruction
A& - HDB(S BRI DOV TIILRME - TF v VR EZZ(TFDOBELLTT S, N
(TRI(FSZEH) o —?E
A LICIZBOREREBDODASAMIENMERLET A LD A RICEI D 7E VLD BEELTFEL, § =
Please design the support structure for input shaft and output shaft so that both radial and axial loads are :j%
supported. (Diagram below shows an example) g
Inside thrust load has effect on the cam. Secure cam from the possible axial movement.
Hi A 1
Output shaft A S f%f ﬁ%
Input shaft R
- O 23 =
- I 7 =~ %4
- L \_rnfﬂn:ﬁ g B
OO @ E3FEA
L éig %%%é
1 = 2T L
- Cam s 8 Eff
E 2 =7
S ]
=
3z ® |
33 18
52 K

=

NSy it

anbuoj] Bunywsuesy

pue uonejelsu|
iy ff bt

suononisul Alquiasse

ele(] SolsueIoRIBY)

FLEXWAVE WP>1—X 74



)

Flat type D
BrMET—4 Characteristics Data

AEGERE

Transmission Angular Accuracy

1.0
AEEERELIT
BT CAN#MZEEGESELEAOER/ LN £ 05 ﬁfi{fﬁ*ﬁfﬁy
HIN R f & ERR OHI N EEE B 3= 5 s
. . . o 0.0 1 M“,I\\‘H“]ll\I“ml““\‘l‘mlu W,‘ MMeEnnEnER I LL
What is Transmission Angular Accuracy? -0 I il [Hiwm "Il” m“””m”m l””l”””ll'l”""
It is the difference between the measured output %’i ug
rotation angle and the theoretical angle, while % -0.5 _/
input shaft is rotated with no load. o
10, 90 180 270 360
HHEE R A E ()
Output shaft rotation angle (deg)
[arc min]
. P4 X
BOE Size
Ratio ™35 | 42 | 50 | 63 | 80
50 2.0 2.0 1.5 1.0 1.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0
MROEFSEETT,
Table values are reference values.
EXFJA0X
Hysteresis Loss
ERFUSRAOREE et
ADEEEE L THEAEIC ML ED TGS r
DEAMLIREORENAEDZE EXTYULZAR
. . Hysteresis Loss
What is Hysteresis Loss?
When torque load is applied at the output shaft
in alternate direction repeatedly with input shaft 7 > KLY
fixed, there is residual twisting angle when / Torque
torque is back to zero. /
In this context, hysteresis loss is the difference
in the forward and backward twisting angle.
[arc min]
. P4 X
B EE Size

Ratio ™55 T 42 | 50 | 63 | 80

50 2.0 2.0 2.0 2.0 2.0

80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0

75



R
947D

Flat type D

L LB
== v
56 fE
ieom
7 8 =
= N o >, = ° —
RANNVITYVE -
Maximum Backlash [arc sec]
s = . P4 X |
1O NAVM L% Rt B b Size 5
N o — o N Rati 3 2
ADEDRTS4 V94 T DHEDHDEIDHS Aol 35 42 50 63 80 sz
(BEDMEHEWNERD/ N5y (E 0 Db Uy K54 50 27 27 18 16 16 E
TTENYISYUE 0 ERUEY) 80 17 17 11 10 10 g
What is Maximum Backlash? 100 13 13 9 8 8
In this context, maximum backlash is the output 120 11 7 2 7
backlash for spline type input shaft. (Backlash is -
zero for rigid type input, because gear engagement e B
X SRS ;ET?’_'t_T
backlash is zero.) o350 fHAD
£52 2tEr
535 HH
EEREY
Bl (vo—XB 2=y b9 47F) K1~ hLO A0 ~ T, DIERER g =
. ] Spring coefficient at 0 ~ T, torque 3
Stiffness (Closed type, Unit) Ko R ILO BT, ~ T, DI e — \E
Spring coefficient at Ty ~ T, torque gg 5 /;‘7]
R & (& K3 FAS 1T, ~ Ol 222 Ald
L . Spring coefficient at T, ~ torque i%g D
ABBIZEELTHEDAIC ML ENT B EDIE S 2 A
REHLRLNE S — : B
What is Stiffness? K, : =
In this context, stiffness is the output shaft twisting o :
angle and the spring coefficient, while torque load = I i 5z m |
is applied to the output shaft with input side fixed. ) : S8
5= K i i EER
E | | iz E
0 : 1
T oamey
Load torque
B |
- B} e Y4 X 3 iE
woEl | e Bfiy Sizé = T
Ratio item unit 35 49 50 63 80 i 5
- T, Nm p) 3.9 7 14 29 E
- Tz Nm 6.9 12 25 48 108
K, x 10*Nm/rad 0.39 0.66 1.1 2.2 4.6 —_
23
K, x 10°Nm/rad 0.47 0.75 14 26 5.1 65 g
50 Ky x 10°Nm/rad 0.52 0.82 1.4 27 5.6 S &
0, arcmin 17 2.0 2.2 2.2 2.2 g2
6, arcmin 5.0 55 6.3 6.4 7.2 3
K, x 10°Nm/rad 0.44 0.86 1.6 2.9 6.2
30 K, x 10°Nm/rad 0.60 1.0 1.9 3.2 6.5 g
100 Ks x 10*Nm/rad 0.72 1.0 1.9 3.1 6.5 !
120 6, arcmin 16 1.6 15 17 16 g
6, arcmin 4.0 4.1 4.6 5.2 57 g
MERDEFFHEETT,

Average value shown in the table

FLEXWAVE WP>1—X 76



)

Flat type D
BrMET—4 Characteristics Data

——

BHBEIMNLY Un—2B 1=y 547F) [eNm]
Starting Torque (Closed type, Unit) SRR ﬁséel
Ratio
S 42 50 63 80
v L

tijjl\) \7(‘:__(1 . _ 50 7.0 11 14 17 26
]\j]{ﬂ”h‘b@if\éﬁé%é(:\ ]\jj{ﬁ”ﬁ‘@if\é 80 6.8 9.5 13 24 26
DD LY 100 6.4 | 9.4 11 14 20
(mafr ABEERE: 25°C) 120 - 8.1 9.3 14 20
What is Starting Torque? M FERAREFICLIVENERRUEFTOT, BEETT,
Input torque needed for input side to start 2 ATMAA A Iy — LR —IART Y v T EDREREHT
rotating (no load, ambient temperature : 25°C) CLBEBEIEINTVLEEA,

*1 For reference only. Torque value may vary depending
on the condition.

*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

BESHARE LY i)
Output Starting Torque(Closed type, Unit) /Ratio oz

35 42 50 63 80
iéii@ii) ML &I 50 1.2 3.6 4.4 5.8 13
HARDSEES T A BAC HhRrEEE oo 10 89 72 L 18 | 26
meHD LY 120 - 42 | 8.1 10 30

\aH. AERE 25° \
(REF. AERE :25°C) 1 AR LU ENRA U ET 0T, SEETT,

What is Output Starting TOI’QUG? W2 ANBIAA IS —IILDR— IR T Y ¥ S EEniEHT
Output torque needed for output side to start ICEBEBISINTUVEIEA,
rotating (no load, ambient temperature : 25°C) *1 For reference only. Torque value may vary depending

on the condition.
*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

[cNm]
- N
maf N Y4 %
—_— N, — N °> ‘/}ﬁgtt EE_% Size
7/—47 MLD Hatio 35 | 42 | 50 | 63 | 80
— ZH — °
(Y0—XE, 2=vh547) 500/min | 3.4 | 7.5 | 92 | 17 | 35
No-load Running Torque 1000 i 4.3 8.2 11 18 37
(Closed type, Unit) 50 r/m?n : :
2000r/min 5.0 8.5 13 18 39
WMEFSVIVIMLYEIZ 3500r/min 5.4 11 14 22 38
EEE CEESEE0ICBEA 500r/min 3.2 7.6 10 20 35
o [t w0 o7 e o]
N - [} | . .
CPfE. AELRE :25°C) 3500r/min | 5.2 11 14 24 38
. . i .
What is No-load Running Torque? ,
. 500r/min 3.2 7.1 11 21 36
Input torque needed to keep it .
running with no load (average 100 1000r/min | 4.0 8.2 13 23 39
value, ambient temperature : 25°C) 2000r/min 4.7 8.4 14 24 39
3500r/min 5.1 9.7 14 25 38
500r/min - 6.7 9.8 23 40
120 1000r/min - 8.1 12 24 41
2000r/min - 8.4 13 26 41
3500r/min - 8.4 13 26 39

A FERAFFICLVENELY FTDT, 2EETT,

2 AFEA A Y —IIPR—IART Y Y TEOREEIIC L 2HEEE
FNTVEEA.

*1 For reference only. Torque value may vary depending on the condition.

*2 Charts does not show effects due to rotation resistance of

bearings and oil seals on the input side.
77



R
947D

Flat type D

3 L
8 & B
S8 i
Sz #l
e 3% =
IR (YO0—RB 1=y + 54 T) =
Efficiency (Closed type, Unit)
B (%] BENLY | FRERNLY .Pircenkt)ille Load (%)t is equal to load torque divided by c ;E B
. allowable average torque. g I
N =] . O (%]
Jﬁ@lﬂl@: - 25%C -Ambient temperature : 25°C g =
S S TFERT— S OTHETT, 1 ;Eteusael (rjr::g;irrr;s;nreeﬁtresent the average value of the g
ST . o, A — . )
H2 ADA AN —WPR—AART VY TEDEER Charts does not show effects due to rotation
EMICELZEEFTESINTWEEA, resistance of bearings and oil seals on the input side.
SRS EE|
ig5 EH
S3S T @
237 x13
o - =
g ~
g
WPU-35-50 WPU-35-80 Be¢3 %’T‘J &
255
5=+ )]
100 100 STE
e 500 1/min e 500 r/min R
90 [ e 1000 r/min 90 [ e 1000 r/min 8 )
e 2000 r/miin e 2000 1/miin E
> 80 [ e 3500 r/min > 80 e 3500 r/min
C C o
g7 g7 3z m
T 60 — 5 60 =t
— — 33 18
& 50 2 50 2 &
M M 5
30 30
20 / 20 |
3 iz
10 10 :
0 20 40 60 80 100 0 20 40 60 80 100 ERIMN
B#r [%] Percentile Load &7 [%] Percentile Load E )71/
-
WPU-35-100
o0 i1 2
O © =
e 500 r/min 35 =
90 [ = 1000 r/min %% 1%‘
@ 2000 r/min 2o
. 80 [ == 3500 r/min ca
8 2
3 70 :
©
5 60 //
g 50 //-_ Q %
y £ i
# 3 =
= 40 % 7I—
30 % &
20 5
iy
10
0 20 40 60 80 100
&7 [%] Percentile Load
FLEXWAVE WP>U—-X 78



79

L

Flat type D
BrMEST—4 Characteristics Data

PR (YO0—REB, 1=y h ()

Efficiency (Closed type, Unit)

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the
actual measurement.

BE (%]  BENLY | EREKRNLY
BAEEE : 25°C
#1573 ERF—yDFEHETT,

M2 AFEIA ALY —IILPR—=ILR T v T E D EER
EHICLDEEIESINTOETA,

*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

WPU-42-50 WPU-42-80
100 100
e 500 r/min e 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
e 2000 r/min s 2000 r/min
. 80 e 3500 r/min - 80 [ e 3500 r/min
o 70 o 70
= & //
I 60 U 60 /
= 50 = 50
# 40 # 40
30 / 30 /
20 20 ¢
/7
10 10
0 20 40 60 80 100 0 20 40 60 80 100
A7 [%] Percentile Load & [%] Percentile Load
WPU-42-100 WPU-42-120
100 100
e 500 r/min e 500 r/min
90 [ = 1000 r/min 90 [ = 1000 r/min
s 2000 r/min s 2000 r/min
> 80 [ e 3500 r/min > 80 [ = 3500 r/min
5 70 B 70 —
9o o
= L — = //
60 //’ w60 / —
§ 50 //_— § 50
# 40 //// B 40 /
= y /2 =
30 30
20 20 4
10 10
100 0 20 40 60 80 100

20 40 60 80
& [%] Percentile Load

&7 [%] Percentile Load



R
947D

Flat type D

23 LB
8 & B
S8 i
sz H
e N o 7 % I\
IR (YO0—RB 1=y + 54 T) =
Efficiency (Closed type, Unit)
B (%] BENLY | FRERNLY .Pircenkt)ille Load (%)t is equal to load torque divided by c ;E B
. allowable average torque. g 1
N =| . O 23
Jﬁ@lﬂl@: - 25%C -Ambient temperature : 25°C el =
v e N *1 Th i h lue of th .
1 TSI ER T — S D ETT, acteusaeI (rjr::g;irrnes;nreeﬁtresent the average value of the 5
ST . R N — . )
H2 ADA AN —WPR—AART VY TEDEER Charts does not show effects due to rotation
EMICELZEEFTESINTWEEA, resistance of bearings and oil seals on the input side.
SRS EE|
ig5 EH
S3S T @
23° x1
o - =
g ~
g
WPU-50-50 WPU-50-80 Be¢3 %’E,’J e
255
5=+ )]
100 100 g\g il
e 500 1/min e 500 r/min R
90 [ e 1000 r/min 90 [ e 1000 r/min 8 )
e 2000 r/miin e 2000 1/miin =
_ 80 [ === 3500 r/min - 80 [ === 3500 r/min -
O o
5 70 — & 70 3>
2 _ o _——— i 7
T 60 = = T 60 — s i
R 50 & 50 -2 E
4 o4 5
& &
30 7/ 30
20 20 |
=
10 10 :
0 20 40 60 80 100 0 20 40 60 80 100 ERIMN
B#r [%] Percentile Load &7 [%] Percentile Load E )71/
)
WPU-50-100 WPU-50-120
100 100 iz 2
O © =
e 500 r/min e 500 r/min 35 =
90 | === 1000 r/min 90 [ e 1000 r/min 5 I%—
s 2000 1/min s 2000 1/min Zo &
_ 80 { e 3500 r/min . 80 [ === 3500 r/min =3
o o 2
-5 70 5 70 // %
2 k) /
0 60 o 60 ////
é 50 é 50 /// :'z'_) g
H 4 P 4 8 =
- & BT
30 30 % 5
20 —# 20 g
iy
10 10
0 20 40 60 80 100 0 20 40 60 80 100

& [%] Percentile Load

&

[%] Percentile Load

FLEXWAVE WP>1—X 80



81

i

Flat type D
BrMEST—4 Characteristics Data

K (YO0—RB 1=y h5(7)
Efficiency (Closed type, Unit)

B (%] BRENLY | EFEREKNLY -Percentile Load (%) is equal to load torque divided by
. . o allowable average torque.
FRERE : 25°C -Ambient temperature : 25°C

. .= |l = *1 These diagrams represent the average value of the
% |5 — 7t (E ¢ R
1 TST7EENT—IDFHETT actual measurement.

H2 ADRAANY =R —IAT Y T EDEER *2 Charts does not show effects due to rotation

EMICELZEEFTESINTWEEA, resistance of bearings and oil seals on the input side.
WPU-63-50 WPU-63-80
100 100
500 r/min e 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
e 2000 r/min e 2000 r/min
. 80 [ e 3500 r/min - 80 e 3500 r/min
2 2
2 70 o 70
© ©
o 60 U 60
= 50 = 50
M 40 // # 40
EX EX

30 /// \ 30
20 / 20

10 10
0 20 40 60 80 100 0 20 40 60 80 100
A7 [%] Percentile Load & [%] Percentile Load
WPU-63-100 WPU-63-120
100 100
e 500 r/min e 500 r/min
90 [ = 1000 r/min 90 [ = 1000 r/min
s 2000 r/min s 2000 r/min
> 80 [ e 3500 r/min > 80 [ = 3500 r/min
3 70 G 70 —
= = P
L 60 L 60 //
= 50 = 50
# 40 # 40 //
EX EN
30 / 30
20 20 Y4
10 10
0 20 40 60 80 100 0 20 40 60 80 100
B [%] Percentile Load &7 [%] Percentile Load



R
947D

Flat type D

LF L
8 2 #k=R
S8 i
=z A
22 =R
P Mk N — o 2@ —
IR (YO0—RB 1=y + 54 T) =
Efficiency (Closed type, Unit)
BE (%] BRENLY | EEREKNLY -Percentile Load (%) is equal to load torque divided by o ;E B
allowable average torque. g I
N=| . o )
Jﬁ@lﬂl@: - 25%C -Ambient temperature : 25°C el =
. .= = *1Th iagrams repr nt the aver val fth -
1 I STRBT S OTHETS. These diagrams represent the average value of he
H2 ANPA AN —WXRR—NAT Y TEDERR Charts does not show effects due to rotation
EMICELZEEFTESINTWEEA, resistance of bearings and oil seals on the input side.
SRS EE|
=0 = E E
588 WA
S3S T @
~—a ==
5= B
5 =
o - %
g ~
S
WPU-80-50 WPU-80-80 Be¢3 %’E,‘J &
255
5= D
100 100 g\g il
e 500 1/min e 500 r/min R
90 [ e 1000 r/min 90 [ e 1000 r/min 8 )
e 2000 r/miin e 2000 r/miin =
_ 80 [ === 3500 r/min - 80 [ === 3500 r/min -
2 2
g7 g 0 3z m
0 60 U 60 5
— — 33 18
= 50 = 50 i3 K
¥ ¥ 4 A//' :
= 0 = 0 / @
30 30 /
20 20 |
3 iz
10 10 :
0 20 40 60 80 100 0 20 40 60 80 100 ERIMN
&% [%] Percentile Load & [%] Percentile Load H )7[/
-
3
5
WPU-80-100 WPU-80-120
100 100 22 i
jo =]
e 500 r/min e 500 r/min 35 =
90 | === 1000 r/min 90 [ e 1000 r/min 5 I%—
s 2000 1/min s 2000 1/min Zo &
_ 80 { e 3500 r/min . 80 [ === 3500 r/min =3
2 2 5
@ 70 @ 70 3
9o o
o 60 o 60
& 50 e 50 / 2 E
o4 o4 8 =
- & BT
30 30 g 4
/ 3
20 20 g
iy
10 10
0 20 40 60 80 100 0 20 40 60 80 100

& [%] Percentile Load

&% [%] Percentile Load

FLEXWAVE WP>1—X 82



Nl

—All for dreams

0 CDHFAVIF2023F3FRAEDHNE T HMmDINER - AR CIEHED/DICEE T B HBOEY
® CIEADIRISEUREAE € L BEFTAD L ELLBHELIZEW

ZFyDRS4IFD)05-H &t
£1E WEB N—J TER

BEE -FHEET7+—LTOERVLERIEZES
https://www.nidec.com/jp/nidec-shimpo/inquiry/

Copyright NIDEC DRIVE TECHNOLOGY Corporation. All Rights Reserved.

ZFyIES4 IF D)0 Ett
AABEY Y KR 2032481 8IC [ZFv 7 RS1T775/OYV—#RAH | IHBEELELL

IT-2303003 409300



